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$"XPY�.�W
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�\QE]�4"^
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�	I(J
�����3KB�B((RBT ,3�
	�
�(�7(b<,3��*�1%$c�d ��e�f��"e
f��/K������B�*�(f��:���:(�g�h,����\�]�s
t	S	T���� 2�,��
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t	S�T ) ��iM9�(�j<]���*:1�$
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1%$ � K�L����
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�VQ3�	��
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0����	��Y-������( ��)�"�1(k�. 	 &X�VQ,�(��������(��:\���+
@���W�� 6��
����12$
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���%�
� ��!�" 	 �E����\B]�Z��,s�t/2�*V����O"�#Q �
�3��� �3 -���,V���(,!
"
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1.2.1 +-,�./,10�2 (LCI) 3547698
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G�H
�\Q ��W ( . 8�� 	 ��U�I�J ( K(U�I�L ) (
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(X��*��B�
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.B��b�S�#�� = O��
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(B+�}�����!�"-,3��*<; d ������1%$
E�����#�$�(�V�W ,3��*�1�+�]B����1,e�f�;	2�.�uBv � ��v���X�U	V���(�Y3]
+��
�������� ��B�C�;�A�B�. $
a���%�1%$ ,2�/,3�B#�$B%�&�'�.�(-Y T	�VQ
����*�1�x 9X��� 500( �
� ) 2[Z ��*�+�]�.����P¢�� A $�e�f(������(�!�"�"
1�. 	 H�\�!�����Y-��]������� zf����,���
r#� ��#�$�%�&�'�.�(-Y T	�VQ �
��*
��*�!�^
�P0���.�&�,3� 	 !�"1����%��B*�$

9



1.2.2 ���������	��

��� + ,�.-, 0�2�3 4
#�$�%�&�'VF 
P	�� 1 $���.�(���� ��+�j �����
��.�F����B*	� � Y�W�X���$�(
W���&�2�.�r1Y � �#Q���1�#�$�Z
� N ��v
;��B��#�X�U	V���P
( $
a�"�1�&�2X���
%�1%$#&��
r#��. � �P¢���e�g��:I�:	��;	2���\�]�^�_�( �����"|�"�1B�B� 	 �
; �
. 8���#�$B=�g��<Q-��a�,3+
#
G���.�r:Y ��� M�;��!S�T�(�W ��&�2X����%�1%$��� .�#�$�%�&�'����� 2"!� �(
\32!]�1%$

[ #�$ ]

� i�j�.�/
0�1(E�#�$
�&%�'���V�W\� ����/ Y ����v
;
X�U	V���(�L�( ,3+�S�T��
I�)�$
� ���
����*�+�7
�&,
��7�.�-	��1%$
� S�T�S�# /

= O��#>�����V�k���?���$
a�I�)�$
�/.�0 � A�� !�"1��H���$
[ 1�$ ]

� i�23%�'���S�T
�
��.�T�Q �B*�+�]�i�2
��e�g\� ��1,e�f���\�]�^�_��!S�T1���
%��B*�$
� i�j���#�G����
����+�]�4�$
��.�/
0�165�S����	������B�C�����%��B*�$
� V�
�� � ��! � .����#Q=��1�+�]�.�0���f�Z
�(9P7
����%��B*�$
��c�7
� 	 ��8�0 ��\�]�s�t�S�T�. 	�9 Q �B*�$
� 5 $ ;�2����������
�B��+�]B��]�#�$ / ]35�S 	 !�"
��%��B*�$

1.2.3 LCA :<;>=@?�A@B@C 4>D@E@F@GH�I ��#�$B%�&�'�(�)�*�+��
�,��� �, -!B"�� 	 � ��� ��r#� ���� �O��	����+�$
• 	�
���&
�&J�' ,3��*�1�`�a�b�c�d�( ��) ,3�B������� �� -!�"�(,W�����?($
• \�]�^�_�`�aBk
��)�%�*���� ( #�$ ) ����
 	 ��%�1�����?"@
"3K�% d�L 	�M
1�&�2X����%��B*�$

N 
 ;���O 2	,3���B#�$B%�&���(�)�*������,������ -!�"�(�W#�B+��"�
������#
$�� CO2 `�a�k���)�%�*
&�2 ��5�����+�2="�12$�w��
����� ��2�,3�����
����� �
 -!�"����"��(��:\�������\�]�^�_�`�aBk���?�@
(�P�1�&�2�.���1���������k���m
n�;����"���<QRQ�0B� 	 �
N ����#�$�� CO2 `:a�k���)�%B*�S�����#�$�����D3T�R
#�U�V�(�Z��#; "	�
+W *�P
23*��-u�v
;���!�" 	 ��%�1����
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N ����(!)�k
.X��)
"�1�#�$ 	 S�O���+�	���� 8���#�$ ? P N 	���� 5�S�(!)�k
.
��)�"�1�#�$ 	 S ?? P
�
r#��.B����v
;���X�U	V���(�Y3]B+�?"@�S�T�(�W���&�2 	���� ����1%$<&��
r
� �"�� ���5�#���+�]�. 	 ��%���5��B\�]�^�_�k
.�U	��"Bs�t�� � 4
��" �"5��,2
4�( $
a�"�1�&�2X���	��V�����112�L#�
Q ��1%$

1.3

 ��������
H�I ��#�$�%�&�!�"
� 	 �����
��E 
 2	,�����\�]�^�_-,2��S
T	"�1�&�2X����%

�����B+�$-,2�<,3���
��� 	 ��������(�R�T�"�1�k��:9���(�l	"<&12X����%���*�$
8B	�
�� 	 \�]�^�_������P0 CO2 .���*����($
����������.���������=�>�&�.(S
T
"�1�&�2�.�r��B���
H��
�	I!J�������KB�	L,��M	N!O<P3���/Q����
�
������R�T����� (�l	"#&�2�(�93;�2	,3+($

1.4

���� �����

8�<��
��=�>�( ��� .��1A�1%$
�

1 � ��� � 	 � LCA .���*������-,3��8�	�

�:93;�(�l�"($
�

2 � ?�@BA�CBD�E�F�GBH�I
J�K
JML3N O�P � 	 �B8�	


�����-2��
1�#�$�%�&
'�(�)�*�+����������� -!�"��B���������
.,2�4�!�"�.���*���5��	"�1%$

�
3 � x�@BF�y�z�{�|�E�O�}�~�H�?�@BA�CBO�P � 	 �B8�	

������	":1�#�$�%�&
��(�)�*�+�$����B�
����h��Bc�d���������=�>�& ��� ��f����,� CO2 !�"��
����.���*���5��	"�1%$

�
4 � ?�@BA�C�������L��	��
 � 	 ��8�	�
���+1]�.���>-,3+�#�$�%�&����	���
� (�5���"�1%$

�
5 � ��P
��� � 	 ��� 3  ���l�"�����(�)�*��	��$ ,3+�2�4�!�"
��`�a�b�cBd
���"��(,l	"($

�
6 � 5�7 � 	 ��8�	

�����Q ��+(�"�:.���*���L�! ,3�������"� 2XH����	I�J
���B��K��B�B���
��(�)�*��
H�����I!J	�
���/KB��(�0��B*�+3L�M	N�O<P3�
�/Q������
������R�T��!S�T�(�W�� $

�
7 � ���1^	_�`�a	b��
c�d � 	 ��8�	�
�����Q=��+(�"��(!U#"	"�1%$
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�
2 � ������� ���	��
���
��	�����

�����
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8  �� 	 � H�I ��#�$B%�&�'�(�)�*�+����,������ -!�"��B�B��/�r��B8�	�
���]
+�.�)�*�+��
��(�!��	"�1�#�$�%�&�!�"�.���*���5��	"�1%$ ( K"L���� [3])

� L3N�������K�� L	�	��D�
�����
�G��
��� ��W�X
�B����� ��'	*�((�BV�)�*�1�����b�� 2	,3��������)���� 	 H �� ��
����������4���� 	 ��� ������0�� 	 )������(4����
.�&�5�Q������
����(�'�"($ T	�� a�(,'�"#0��:2="�1%$ c�� .�����!���W�X M .���*���� (MT )−1 = (M−1)T �
1B&�U:����1B����������D���+�]��
&X��( M−T 2 '	"�&�2�.!"�1%$:\�+���>�!�'
*�(!"�1(k���"���.���*�� 	 ��H �� ���� 	 [ ] ��X�������� 	 { } ��W����
��� 	 b c (�)�*�1�&�2�.!"�1%$

A H �� ����
d �������

Xij �������
MT M � � a
M−T = (MT )−1 = (M−1)T

[ ] H �� �������>�!�'	*
{ } X�����������>�!�'	*
b c W�����������>�!�'	*

' 2.1: H �� ���� · ��������'	*
�����
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2.1
������� ��� �����

2.1.1 ���������
#�$�%�&�' 	 �<. 8���E�#�$�.���*�����%�#�$
���	��

��q�(�Q�R�.
r:Y-' ,3�
&�%"¡�0B+P0�������1%$�����=�g�(�' (2.2) .�l	"�$

�B��o��
#�$ 1 #�$ 2 · · · #�$ j · · · #�$ n m�n�o�� �BT #
aB�

#�$ 1 X11 X12 · · · X1j · · · X1n F1 −M1 X1

� #�$ 2 X21 X22

...
... F2 −M2 X2

� ...
...

. . .
...

...
...

...
...

S #�$ i Xi1 · · · · · · Xij · · · Xin Fi −Mi Xi

T ...
...

...
. . .

...
...

...
...

#�$ n Xn1 Xn2 · · · Xnj Xnn Fn −Mn Xn

¡��	T"� V1 V2 · · · Vj · · · Vn

#
aB� X1 X2 · · · Xj · · · Xnn

' 2.2: #�$�%�&�'���=�g

#�$�%
&�'�������W 	 o������ ( ��*�� ) (,' ,3������X 	  ����
� ( �-Y-� ) (�'
"�$ i W�9�(��:.�����WV;�2,��#�$ Xij

	 #�$ j ����# � ( Xj Q�0���#�"�1(k�.�#
$ i . Xij Q�0	�
�P��+ ( SBT-,�+ ) &	2�(�'�"($�Y
.�L
��1123� Xij

	 #�$ i ��U�o
� Xi �V�2�B�B#�$ j �<Q Xij Q�0���o��1���"�B+
&�2�(�l-,,��*�1%$:\�+�� Fi

	
#�$ i .! �":1,m�n�o���� Mi

	 #�$ i ��o��
�\�%�	��T:.�r��B���
5���1 ( �1\<Y
i�j���e�g<, �B* ) &	2�(,l-,��B*�12$�\B+�� Vi

	 #�$ i ��e�f�.( �"�1%¡��	T���(
'-,3��*�12$:\�+���U�o�� Xi 2=U���# Xj

	
i = j ���!�P+�� ,�*�$
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2.1.2 �����������
	�
 },��#�$�%�&�'���>�! Xij (�#�$ j �!U��B# Xj �
�/,�+(� aij (�L
��12$ aij	 #�$ j �B��# � (Bc�d
k���#�"�1���.�6�� ��#�$ i Z���S�T
k
(�' ,3�BS�T�U�V
2��
��$�S�T�U�V aij

	 #�$ j ��U���# Xj .���]�1 � i e���T�R�������(�l-,,��*
1%$��1\�Y-�	��1���#�k pj ��'
�
Q=��+�;��
�����B��#�.�6�� ��#�$ i Z
�
�B��S
T 	 aijpj ��'	"�������%�1%$�� (2.1) .�l	":r
�3.B� aij

	
n× n ��� d W�X�(�=�>

,3�BS�T�U�V�H �� �����2���+���1%$

A =

















a11 a12 · · · a1n

a21 a22

...
...

. . .
...

an1 · · · · · · ann

















(2.1)

#�$�%�&�'
��&�U:(�S�T�U�V�(�)�*���'	"/2,��� (2.2) ��r#�3.���1%$


















































X1

X2

...

Xi

...

Xn



















































=





























a11 a12 · · · a1j · · · a1n

a21 a22 a2j

...
...

. . .
...

...

ai1 · · · · · · aij · · · ain

...
...

. . .
...

an1 · · · · · · anj · · · ann















































































X1

X2

...

Xi

...

Xn



















































+



















































F1 − M1

F2 − M2

...

Fi − Mi

...

Fn − Mn



















































(2.2)

� (2.2) (��������
��W�X�(�)�*���'-,3����Q�.�p�
�"�1�2 � (2.5) (��:1%$
x = Ax + f − m (2.3)

(I − A)x = f − m (2.4)

x = (I − A)−1(f − m) (2.5)

+�Q/,�� x � f � m
	 w
��r
�3.,'�"�0��32�,�����������$
a��B��� � �
�3m�n�o��

�������
����T�������� 2��
�#&�2�.!"�12$

x =



























X1

X2

...

Xn



























f =



























F1

F2

...

Fn



























m =



























M1

M2

...

Mn



























(2.6)

#�$ i .�o��	���<h3+�;���������o���(��
+�"�+	]�����#
(��
0B�����
��#�$ j ��o
��(��\h3�#��Q�.�����o���(��
+�"�+�]��B��#�(��
0B���B#�$ k ��o���(��\h3���
v�;�.
�
Q6��1,#�$�Z�o�����X�U ,3��W\;�$�� (2.5)

	 �
��13m�n�o�� f ��'P�PQ=�
+�2�%B�P&X��(���+�"�+�]���i�j�%�#�$
��X�U	V���(�Y3]�+���#���� x ����1�&�2
(�l-,3��*
1%$
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2.1.3 ����� ���<�
&�&�\B��� x � f

	��3M �Bk��	��Y ��#�$B%�&�'���'P�
Q ����*�+�����SBT�U�V�W
X A ��i�j���#�$B=�g�(,'-,���*
112EL#���!%�#�$
����#�k���Q 	 7���.�'P�
Q �
�B*
1"0��:2="�1�23� ��!�� x � f .���*���� (2.5) (�)�*��(L#!
(,W � �	����%�12$
O#��+B� ��!���m�n�o�� f( &"&�� 	 ��c��B+	]	�BT�(����	"�1 ) (��
+�"�+�]�.��
%������#}=�3Q�0����B# x (,W �z������$ 	 w���rP��.�L
��12$�\���� m���.(%����	 m�n�o�� f (�uBv
��+�"�+	]B�B�B# x(1) = f (�WP5���0(��+���Q ��*�$(w
.����
# x(1) (,W��-+�]�.�6B�
���B# ( ����SBT )x(2) ��6������3Y � X(2) = Ax(1) = Af

2���1%$	� ��.B� X(3) = Ax(2) = A2x(1) = A2f 2��/Y �
&�����$�(�
 Y�� ,-W
��&�2�.�r1Y-��m�n�o�� f (��
+�"
��.�6�� �B��# x

	 w�����
:]�1�������%�1%$
x =

∞
∑

r=1

x(r) = f + Af + A2f + A3f + · · · (2.7)

&"&����
n

∑

i=1

aij < 1 (j = 1, 2, . . . , n) (2.8)

����1(�<Q�� I (�c�d�W�X 2	,3���

(I − A)−1 = I + A + A2 + · · · + Ar + · · · (2.9)

2��/Y ��� (2.7)
	 w��
�
r#�3.�p�
���%�12$

x = (I − A)−1f (2.10)

� (2.10)
	 ���BT�(����-,�+�
�������1!�����BT�(�L�( ,�+�;B� 	 ��� (2.5) 2���h

�"��(��:12$
&���r#�3.B��m�n�o�� f (��
+�"���X�U	V���(�L�(
.�*
��+�U���# x

	 ��S�T�U
V�W�X A �<Q YBW�X (I −A)−1 ( ��$�"�1���.�r(����
:]#Q=��1%$ (I −A)−1

	
A

2���h n × n ��H �, ���������Y-�

(I − A)−1 = B =





























b11 b12 · · · b1j · · · b1n

b21 b22 b2j

...
...

. . .
...

...

bi1 · · · · · · bij · · · bin

...
...

. . .
...

bn1 · · · · · · bnj · · · bnn





























(2.11)
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2 '	"<23� bij

	 �
� j �Bc�d
��#�R���m�n�o���(��
+�"�+�]�.�6�� ���
X�U	V���(
Y:]B+����
� i ��
���;���m�n���#�k
(�' ,3��*
1%$ f � � j ��5�( 1 2	,������
�
��5 	 0 2	,3�����P+���%��
����������#�� x

	

x =



























b1j

b2j

...

bnj



























(2.12)

2���1%$
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2.2
������� ��� � LCI ��� ���

���
� 	 � 
"Z��!�#5���1,#�$�%�&�!�"�.���*�� �
��,3+($�8��
� 	 #�$�%�&�!
"�� LCA Z
��[�)�.���*�� �
��"�1%$

2.2.1 �	�	
��	
����	���
#�$�%�&�'-2 	 &:.B�&T���U�V�=�g�����'���}��B����"�#�(�)�*�1�&12�.
r3Y �
#�$ i �BuBv���\�]�^�_���`�aBk
( M 1�&�2X����%�1%$<&X��(!%�#�$
��i�jB��#�R
Xi ����1�&�23���(%�#�$ i �Bc�d
�B#�R:�B+/Y3��\�]�^�_���uBvB`�a�wB4 di ��
�\
1%$ 	 
 }���Y�W�X�U�V�� ij >�! Bij

	 #�$ j . 1 c�d���o������3���"�B+32�%��
#�$ i ���	����#�k
(�' ,3��*�1B������#�$ j ��m�n�o���( 1 c�d���#�":1(k��
X
U	V��<0<Y:]B+B\�]�^�_���UB`�aBk tj

	 w�����
:]�1�&�2X����%�1%$
tj = b1jd1 + b2jd2 + · · ·+ bijdi + · · · + bnjdn

=
∑

i

bijdi (2.13)

��Q�.B� c "�'	* ,3+B�������

t =



























t1
t2
...

tn



























(2.14)

	 ��w���.�r��B��
:]�1�&�2X����%�1%$
t = BT d (2.15)

b�c�d��\���B����'
;��P0���( ��� .�l	"�$

2.2.2 ���������@D	��� �	�	
��	
��"!
LCA (,W��$#���j������ p ��o���������+�2 "�12$�&���o���(���+�"�+�]B��i�j
���B#���q
(�g\h3��`�a
�=��1,\B]�^�_
��U�k L

	 �%w�� ��� 
1]�1"&�2 ����%�1%$
L = t1p1 + t2p2 + · · ·+ tjpj + · · · + tnpn (2.16)

tj
	 	 
 }���\�]�^�_�`�a�b�c�d�����Y � n

	 #�$
��V�(�'	"�$

18



2.2.3 ���������>D ���@���
� @���&�2�(��:\�������#�$�%�&���.�r�1,\�]�^�_�`�aBk��(S�T�(�W�X�'�l	"�1
&�2�(�L#��1%$:\����B\�]�^�_B`�a�b�c�d 	 �

b� =



























b1j

b2j

...

bnj



























d =



























d1

d2

...

dn



























(2.17)

23/<;�2,��� (2.16)
	 w
�
r#�3.���12$

tj = b� T d (2.18)

\�+��

p =



























p1

p2

...

pn



























t =



























t1
t2
...

tn



























(2.19)

2 "�112

t =



























b �
1
d

b �
2
d

...

b �� d



























=



























b�
1

b�
2

...

b��



























d =

















b11 b21 · · · bn1

b12 · · · · · ·
...

... · · · · · ·
...

b1n · · · · · · bnn

















d = B � d (2.20)

2 'V� ��1������
L = t1p1 + t2p2 + · · ·+ tnpn

= tT p

= (BT d)T p

= dT Bp (2.21)

= dT (I − A)−1p (2.22)

. 8
i�j����

���q
.�rB1��3\B]�^�_
�!U�`�a�k 	 p = f w�����'�"#&	2 ����%�12$
L = dT (I − A)−1f (2.23)

= dT Bf (2.24)
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2.3 ����� ���� .�K�L���� [3] �<Q 2�4�5�"�� 
��
D����"��(���)�"�12$

2.3.1 �����<F<D��
	�:��<?
���
#�$�%
&�!�"�(����������, -!�"�.���)�"�1"&�2,������v
;�X�U	V���(�Y3]B+�S
T���I�)
.	��12$3,���,��28�*
;!�"9��B+	]�. 	 �3\B]�^��B7
�(S
T�Q�0����
; � S
T�(�C��/,3+�?"@
(�W�� 6��	����1%$	��.B��m�n�o��
��p�q�����\�]�^�_	UB`�aBk
.�U	�!"Bs�t�4�( � M�;�.,'	"�&�2X����%!�P+B��U�V
o����P��Q=V�W�;�.(?"@
(�P
1�&�2X��I�)<2���1%$
m�n�o�� f �����"� f̄ .! <,3��� f � i ��9,����5 fi � ∆fi Q�0�p�q ,3+�2�%�.�\
]�^�_�`�aBk�� L0 �<Q ∆Lf Q�0�p�q ,�+"k���s�t�4�S�T�� � l 2	,3��w�����'V�
��132�4�(�)�*�1%$

sf,i =
∆Lf/L0

∆fi/fi

(2.25)

&X��(���q���(�)�*���
��
D	"�112�w���.	��1%$
sf,i =

fi

L0

ti (2.26)

2.3.2 ����
�� �@B>D��
	�:��<?
���
#�$�%
&�!�"�(����������, -!�"�.���)�"�1�k�. 	 �B#�$�%
&�' ( Y�W�X�U�V�' )

2
2�0�.���uBvB`�aBw�4����
��(6T ��U�VB=�g�����' �
}2�<Q%$�a�"�1"&	2�.	��12$
`�aBwB4 	 �P¢�����

(�����. $
a#� ����/ Y ����
�� � d .�r��B� 	 ��`�a�b�c
d 	 0(�"!(Y���m�n�;���\�]�^�_	UB`�aBk��!S�T�.!)�%���s�t�(�U	��"�&�2X�$#�%
� ��1%$
�
&�����8���� 	 uBv�`�aBwB4���p�q����B\�]�^�_	U�`�aBk
.�U	��"Bs�t
.���*���L#!�"�1%$
uBv�`�aBwB4 d �����"� d̄ .! ,���� d � i ��9,����5 di � ∆di Q�0�p�q ,3+�2�%
.�\�]�^�_�`�aBk	� L0 �<Q ∆Ld Q�0�p�q ,3+�2�%���s�t�4�S�T�� � l 2	,3��w��
��'V� ��1�2�4�(�)�*�1%$

sd,i =
∆Ld/L0

∆di/di

(2.27)

&X��(���q���(�)�*���
��
D	"�112�w���.	��1%$
sd,i =

di

L0

eT
i Bf (2.28)

&"&���� ei

	 � i ��9,����5�Q�0�� 1 ����1 n w���c�d��������
����1%$
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2.3.3 �������<D��
	�:��<?
���
e · f���K(���B��#��P���B�1\/Y %��
� ( #�$ ) ����(-YR��%���p�q����B\B]�^�_
UB`�aBk
.%U	��"Bs�t�.���*���
��
D	"�12$
SBT�U�V	H �3 ,�!� A ����5 aij � ∆aij pBq<,�+�h�.�\B]B^�_B`�a�k�� L0 ��Q ∆LaQ�0�p�q ,�+�2�%���s�t�4�S�T�� � l 2	,���w�����'V� ��132�4�(�)�*�1%$

sa,ij =
∆La/L0

∆aij/āij

(2.29)

(2.30)

S�T�U�V�. 	 � (2.31) �B'V� ��1�r#� ����X���C�� ( ¡
�	T"��U�V�(�Y3]B� )1 �1�
1���23*�� 8�9"���1����1B�����Bp�q\�EW�1(k�. 	 i�!�(���"�1%$

∑

i

aij + vj = 1 (2.31)

�
&���� �3� � 2 �
��;B��(���
<,3����������.���*�� 
��
D	"�1%$
���

1 � ij ����E���	���

������H����
8 I 	 ij ��5��&7	�
.�p�q�"�1�&�2 	 ��Y*� �B*	��� ij ��5
�Bp�q�!�(!"�K��(¡

�	T"����p�q������	"�112	,,+
&�2�.����!":1%$<&���;��
��
���D	"�112 � (2.32)

�
r#�3.���1%$

sa,ij =
āij

L
toi

n
∑

l=1

b̄jlpl (2.32)

���
2 � ij ���	��
���O�E
���	�����
����E�

��������� ��!�~�����"�#��
$�%�E

& � ��'�(�H����
������5 	 S�T�U�V���)�%P��.!B�O-,3�Bp�q\�zW:1%$<&���;��
� 
��
D	"�112 �

(2.33) �
r#�3.���1%$

sa,ij =
1

L0

aij

1 − aij

tij
n

∑

l=1

bjlpl (2.33)
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3 � ��� ����������� ���
	 � ���

��� ���
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3.1 �����������	��
���
������
#�$�%�&�!�"�.�)�*�+
#�> 2 $�#�$�%�&�'
��`�a�wB4��:��� � � 405 �
����cBd	
t-CO2/ 
���� � 	 �������B	�
� ���8�����.��� -,3����*�+($

3.2
��������� �������������

#�> 2 $ � 1990 $���#�$�%�&�'��
(��BQ�8�' 	 411 X 527 W
�\Q =�>�� �
��*
1%$�&��\�2����$�)�����.B&�"�1�0�� 	 ��X��
��� 	 ��$�)�b����
��� � X/L��� 
5111-01 � �,��$�)�������� � X�L��! 5111-02 � �#"�� � �����
����$�)���� � X�L,�
 5111-03 � ��W��
��� 	 ��$�)������ W/L��� 5111-001 ��� 3 X 1 W
����12$�#�$
%
&�'
��W��
��(�X����32���h 6 $<L,�� �B�B�-,�+
>
.B����� [4] .3,�+
������'
3.1 �
r#�3.������-,3��X��
� 407 ��W��
� 405 2	,3+($

' 3.1: #�$�%�&�'�������� ( ��� [4])

%�& ��' %(& ��)
L��! �
��* L��� �
��*
11301 ^(+ � ,"��� 11300 ^(+
11302 ^(+ � u�� �
31101 -��/.�$ 31100 �P!(.�$
31102 0B��.�$
31103 1���.�$
31201 j2"�!(.�$ 31200 j�"�!(.�$ �43�5�$
31202 j2"�!63�5�$
261201 7�8 Z �
271201 9(7�Q�:(8 Z �

3.3 ;�������< � ��=�> � ��?

W���������$�)����
(,X����:2���h�; ��$�)Bb����������,��$�)����������@"����
����������$�)
���
� 3 �
��.�!��-,3��X�W 2�0B. 407 �
��.3,3+($�����. 	6A �
�B* � S�T	�
�!��� d � 	 � 
���%��B*����1\/Y ���B��*�1�������}��!��� d ��.
.�r��B�!���\� ��+�����5��<Q �B*���&�2�( ��
<,3���Bo��(B
����k�������.�[�h
�B!��	"�1%$�o��(B
���(����k����
��(�)�*
1B� 	 �B#�$�%�&�' 	 Q�C��(�-Y�2�Y
(�l-,���*�1B������1�������$�)������
��.�/�*�� 	 o��(B
��������.! ,3��Q�C
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�(�-Y�2�Y=��W
5���1(�<Q3����1%$
8�	�
�� 	 ��w
��� �
��o��(B�����k ( ������� ) (�)�*�1%$

1. 1990 $ 1 $������!����k
' 3.2 .�l�"����:J���r3Y *�+3Q�*�+ 1 $��������
������k�(�)�*�+($�����=
>	B 	 ' 3.3 ���������:.�l	"($

2. 1990 $���%������!����k
' 3.2 .�l�"����:J���r3Y *�+3Q�*�+ 1 $���������k
&�'�(�)�*�+�$�����=�>
B 	 ' 3.3 �3P 3.2 .�l	"�$

' 3.2: #B> 2 $�����k�� MWh � ( ���1J
�������
��r:Y )

b���� ��� ����� �
1 � 13970383.75 36794105.43 4641254.571 55405743.75

2 � 10745964.04 34602691.92 5522423.947 50871079.91

3 � 13378538.09 33335135.89 6951621.545 53665295.53

4 � 14558778.97 26168883.99 8381980.919 49109643.88

5 � 15381701.12 25881692.91 8760190.872 50023584.91

6 � 14468350.93 33137971.84 7673806.779 55280129.54

7 � 17078892.72 39427398.57 7202513.296 63708804.58

8 � 17667092.74 41608784.89 6122275.677 65398153.31

9 � 14689609.85 36328164.97 6514691.925 57532466.74

10 � 14191558.74 31965603.98 6957558.673 53114721.39

11 � 13308190.29 32396918.8 5980996.36 51686105.44

12 � 15348293.46 34771468.21 6369998.005 56489759.68

��� 174787354.7 406418821.4 81079312.57 662285488.7

3. #B> 2 $��!$���m	)�����(!*
+-,3+<.,.�/
0�1�0,����h�2=������m	4�h��(���
���
1 .,.B/
0�1�h���;�2������������!&�'�/:r�������=�>��B���
� 	 J�'V� �
�
*
1�0�����Z �B*($ 1 .���m�)
����������m�4���������������� 	 P 3.3 .,l	"
#B> 2 $��!$���m	)�����(!*
+ ,3+ 8 � 7 .-!
��?BT�����%B+($-,2�/,3�
&X�
0 c�� ������$
o���?����
����������$
o���! 	 Y:\�� �B*�$ ,2�
0 ����=�>
B 	 H�������1%$-,3+����B����w
�
r
� � ��
��P0�2�. ��$ ,3+($
P 3.3 �� �T�����1 c�� ������$
o 10 !����
��(�. 8�E 
 �!������� 2	,3+($
Q"�<Q,�:0�����h��!������� 	 144 � kW �Bm	4�h 	 65 � kW �1��1�$�P 3.3

U��������"|�������'��<Q &�
/,3��' 3.4 �
r
�3.(%
�����!��������(�#:]B+�$
&��!;B�
�!%�������=�>�B
(�' 3.5 .,l�"($!&�
 d � 	��3� �(g Y �	��12$:03�
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�
� � � � � � � �
� � � � � � � �
� � � � � � � �
� � � � � � � �
� � � � � � � �
� � � � � � � �
� � � � � � � �

�	�
	
�	��	��	��	��	��	��	 ��
	
��
	
�

	

��
� � �
��� ���! 

"  #  !$ %'&'()

P 3.1: $�����%
���
�(����k��!&�'

' 3.3: ��F�&�=�>	B
b���� ��� "�� � �����

1 � 0.252 0.664 0.084

2 � 0.211 0.68 0.109

3 � 0.249 0.621 0.13

4 � 0.296 0.532 0.171

5 � 0.307 0.517 0.175

6 � 0.262 0.599 0.139

7 � 0.268 0.619 0.113

8 � 0.27 0.636 0.094

9 � 0.255 0.631 0.113

10 � 0.267 0.602 0.131

11 � 0.257 0.627 0.115

12 � 0.272 0.616 0.113

� 0.264 0.614 0.122
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� � �
� � �
� � �
� � �
	 � �

 � �
� � � �

���
���������������������� ��� ��� �
�

����� ����� "! �# �

P 3.2: #B>�� $��������!����k��!&�'

��h��!������� 	 ��� [6] .���1,����m�)�����((*�+ ,�+�h�O�����%������(���
������B����&P 3.3 � 144 � kW (�!B�-,�+�$%$'&��(��������m�4�h 	 �,���	�
��������1,b�����(10,�
��h�2���h ������������112	,3+($("��
����� 	 ���
[6] r:Y(F ���("��
������=�>	B
(�L�( ,�����
/,3�)(-Y,(X�������
.�rB1����
2	,3+�$
m	)"U
��m�4
����������� 1 h��(*�*�+�2�,,� 1 h����B+ Y,�!����k
.�,,+($
&#� � 
<,3�
03=�>	B 	 H�p�����1%$

' 3.4: �������	�!$��B��m�)
(!*�+-,�+/.,.�/
0�1 �������	�:0,�
��h32-m	4�h��
��
<,3+�������� ( � kW)

b���� ��� "�� � ����� �
0,����h 28 97 19 144

��������m	4�h 28 32 5 65
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� �

�������	�
����
����������������
� � � ������������ "!

#%$'& (*)*+�,*-*.*/�0*1

2 35476 859

: ;"< = > ? @ A"B�C�D"BFEHG > I"JFK�L�M�NFD

O
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P 3.3: $���m	)�����(!*
+-,3+<.,.�/
0�1X����k��!&�' ( ��� [5])

' 3.5: �������	�!$��B��m�)
(!*�+-,�+/.,.�/
0�1 �������	�:0,�
��h32-m	4�h��
��F�&�=�>�B

b���� ��� "�� � �����
0,����h 0.194 0.674 0.132

��������m	4�h 0.43 0.492 0.077
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3.4 ������������������� ������� ���

#�$�%�&�' 	 1 $����	� 
���q
�����
�B����Y-��8 I $�������!�"�.�)�*\Q=��1
0�������1%$-,2�/,3��8�	�
�� 	 ��c�d���h��Bc�d��
0 � 
���q 	 $�c�d������<2
��h3����112 ��
<,3�
#�> 2 $��!$�����#�$�%�&�!�"���?
��Q ����c�d���h���c�d
��!�"<0 ��?�+($�$�c�d
�B��c�d���!�" 	 $�c�d�����c�d��B�B#�����������(���>
,3� 2  ���l-,3+�E����B��v�.���*���W#�B+($
h��Bc�d���!�" 	 ��L�!�"�1(k�.!B
C�"�1,���
������*#&�2%��Q S�T�U�V�H �� ,����23uBv�`�aBwB4���������Q�0�(�)
*���`�a�b�c�d���5�"���?BW#�B+($

3.5 ��	�
���������
 ���������
405 ������u�vB`�a�w�4���� � �
�<�����3��$�)���������.���*��(w������
��!B�
,�� 407 �
��.:,3+�$���� � 2��(��� 	 ���
.(B�K�� CO2 `�a�k	��Z ��*�+�] CO2

`�aBk 	 "�K�������.,^
5�W
+�$<,3+
������� H�I ����$�)����
� CO2 `�a�k
(X�
�
�B��#������#�B+
0���((���
���
��`�aBwB4 2	,���b������
���2"�� � �������
������`�a�wB4 	 0 2	,�+($

3.6 � ��� ��
 ���������
1. 1990 $ 1 $������B��#��
#�$B%
&�'
��i�j��B#��B��� � X�L��! 9700-00 ��(,' (3.1) �����
����� ,�+�$

2. 1990 $���%������B��#��
@�*��-����#������ ����(���$�)
������� � 2 	 12 ���
��+�$B��$�)������
�	 %����!����k��!$���.���]�1,����.,[�h3��� Y��#�B+($
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P 4.1 .�l	":r#� ���B#�$�%�&�!�" ( � 2  �K�� ) (�W�� �B�
	1I���
��
����)�^
�:I�������( VisualC++ (�)�*��B��> ,3��	�
�.X��) ,3+($

P 4.1: �B�
	1I���
������:I������

4.1
������	 ��
��

\�]�^�_	UB`�aBk
( ��$
"�1�\������:I�������������(��	I����
��� � .3,3�3P
4.2 .�l-,3� ��� . �
�!"�1%$

P 4.2: �	I����
��� �
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1. 405 W 407 X���#�$�%�&�'��
�����B��(�T���"�1%$
2. ����k��!B�(������B�P�<Q-T�� ,3��W�>�!
����$�)���������(�!��-,3� 407 W

407 X���#�$�%
&�'�(���>	"�1%$
3. S�T�U�V�H �� ����"�<Q Y�W�X�U�V�H �� �����( ��$�"�1%$
4. ��#��B��������(������B�P�<Q-T�� , m�n�o�������������$�"�1%$
5. uBv�`�aBwB4���������(������B�P�<Q T�� , `�a�b�c�d���������( ��$
"�1%$
6. ��$<,3+�m�n�o�������� �
��`�a�b�c�d��������P�<Q \�]�^�_	UB`�aBk
( ��$
"�1%$

2�4�.���*�� 	 \�]�^�_	U�`�aBk
( ��$ ,3+
>
.�w�.�l	"���(�)�*��	��$�"�1%$��	 � 2  
(�K���$
• m�n�o�����p�q�.! �"�132�4
m�n�o����������
��`�a�b�c�d����������B\�]�^�_	UB`�aBk

• uBv�`�a�wB4���p�q�.! �"�132�4
u�v�`�a�wB4������ ����YBW�XBU�V�H �, ��!���,m�n�o������ �����,\�]�^�_
UB`�aBk

• S�T�U�V
��p�q�.! �"�132�4 ( X	8�9�����1(;��
����*
;�����. )

SBT�U�V	H �, ,�����3`�a�b�c�d���� � �
�,Y�W�XBU�V	H �� ,�����3m�n�o��
���������B\�]�^�_	UB`�aBk

4.2
��� q

x�@BF�y�z�{�|
��O�}
• T��

405 W 407 X
��#�$�%
&�'������,����(�T��
"�1%$ �����B�
�
������H�� � 	
X
��W
������v
�����
	�� 	 txt .!"�1%$

• �������
����k���B�(����,�B�P��Q-T��
"�1%$ ���,�B��. 	 1 W�9�.,b������ 2 W�9�.
����� 3 W�9,.�"���������(��(C�� 1 .���1�r#�3.,T	���B/<; ���
	�� 	 txt $

• ��$
��$�"�12$

• a��
407 W 407 X���S�T�U�V�'�(������B��.�a�����%�1%$
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������� � L3N���� ����?���K�� L	����	�
���
�����K�� L	�	� � z
• S�T�U�VBU�V�H �� ����

1 W�9�.�X�V
��W�V
� 2 W�9 ����	 X�������W������(����v-23*�� ���B��H<�
� .3,3+
�����B� ( �
	�� icm) (�T���"�1%$

• ��#����������
1 W 9�.,X�V (1) ��W�V (407 � 405 �
} ) � 2 W 9 ���"	 X���� (1) ��W��������
��v 23*V� ���B��H<� � .3,3+������B� ( �
	�� prd) (�T���"�1%$

• uBv�`�a�wB4�������� 1 W 9�.�X�V (1) ��W�V (407 � 405 �#} ) � 2 W�9 ����	
X���� (1) ��W"�����(���(v�.����B��H<� �X,,+������B� ( �
	�� dei) (�T��
"�1%$

��� � ��� � L3N����������
• ��$
��S�TBU�V�H �3 ,�(��(,T��<, �B*���+B�-YBW�X�U�V�H �3 ,�!��(���$
"�1�$

• a��
��$ ,�+�Y�W�X�U�V	H �, ��!��(Ba���"�1%$�a����
� ���
H��:� 	 1 W�9,.�X
V
��W�V�� 2 W�9 ���"	 X�������W������(����v"$��
	6� 	 inv $

• T��� �
. ��$<,3+�YBW�XBU�V�H �, ,���
� �3�B��(���?����($P&X�
.�r�����]
+
.�Y�W�X�( ��$�"�1����
��J:0�1%$

����� ��K � L	�	�����
• ��$
�B��#��B��� ����(,T��<,3� ��YBW�X�U�V	H �, ��!��(���$1\B+ 	 T��<,
��/
0�+�m�n�o�����������( ��$���%�12$

• a��
��$ ,,+Bm�n�o������M� ��(�aB��":1�$
aB����������H<� � 	 1 WM9�.�X�V
(1) ��W�V (407 � 405 �#} ) � 2 W 9 ����	 X���� (1) ��W�����������v"$ �
	6�	

fnd $
• T��� ��. ��$ ,3+�m�n�o���������� ��������(��	?�����$
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��
�������K�� L	�	�����
• ��$
�BuBvB`�a�w�4���� � ��(�T��<,�� �BYBW�X�(���$�\B+ 	 T��<,��B/
0�+
`�a�b�c�d���������( ��$���%�1%$

• a��
��$ ,�+�`�a�b�c�d���� ����(�a��
"�12$�a����������
H#�:� 	 1 W 9�.,X�V
(1) ��W�V (407 � 405 �#} ) � 2 W 9 ����	 X���� (1) ��W�����������v"$ �
	6�	

gen $
• T��� ��. ��$ ,3+�`�a�b�c�d�������� ��������(��	?�����$

���	��
 $���
��	�����
• ��$
��m�n�o�������� ��(���$1\B+ 	 T�� ,�� ��`�a�b�c�d������ ��(���$�\
+ 	 T��<,3��/
0�+�\�]�^�_	UB`�aBk
(���$���%�1%$

• a��
��$ ,,+�\�]�^�_�UB`:a�k
(�aB��":1�$
aB����������H<� � 	 1 WM9�.�X�V
(1) ��W�V (1) � 2 W�9�.�X���� (1) ��W���� (1) ������v"$��
	�� 	 sum $

� �	�����
• ��$


\B�	��$�\�+ 	 T��<,���/�;
2,�3m�n�o�����uBvB`�aBw�4
�,S�TBU�V��
p�q ( X	8	9�����*�;��
����1(;���� 2 �P�<Q�����I�) ) .� �"�132�4�( ��$
��%�1%$

• a��
��$<,3+�2�4�(�a���"�1%$
a����
���B��H�� � 	 1 W�9,.�X�V
��W�V
� 2 W�9����	 X�������W������(����v"$��
	�� 	 san $

��� L
• T��
�	��$<,3+�2�4 �����B��(�T���"�1%$
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• ��$
2�4�( � v�. �,� ��"�1%$

• a��
2�4�(()�%�*(v�.Ba��
"�12$�a����
� ����H#�:� 	 vBd��,W������,X��������
��v"$

���
• T��� a ,3+B*�H �� ����������B��(�T���"�1%$
• ��$
H �� ��!��( � a�"�1%$

• a��� a ,3+�H �� �����(�a���"�1%$

4.3 ���
• @
*



����$ 	 ��!����
��V���#�$�%�&�!B"�.���*���W���&�2 ����%�12$

• uBv�`�a�wB4�(�'
��112 CO2

� 2���\�]�^�_�.���*��
0,!�"1��I�)�����12$

• GUI ������� �
N��	����7(��(�W#�B+�����u�2�;���������I�)�����1%$
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5.1 ��������� >���= ����	
����������
���

����	 �
��� ���

X	8�9	���B*
;�����S�T�U�V���p�q�.! �"�132�4�!�"�(�W
�B+�$
�����"���\�2�
����������S�T	�
����1�0���(�2�41�
)�%�*�v�. 5 ����\��B' 5.1 �3P 5.1 .�l	"�$
�B/�' 5.1

	 %���.���*��B!�" ,3+�2�4:.��<�B���
#B> 2 $��!$�����������/�r �
#�$�%
&�'�(�!��	"�1��
����$�)������
���($������
��.���*�����5�""�"�<0�����������

5.1 �����! #"%$%&!'�(*)�+-,/./0-�21-3�465�7�&!'-869%:/; 1 </=/>6?
@

5.1: )�+-A/(�B-C�D-E/./0-�F)*+�G-H�7�I%J�86K%LM��1-3 ( N�O 5 &!' )

"%$ P%Q%R/S�T%U V6W ( X%Y ) Z-Y![F\-]!^6D N*_%`badc-e�_%`
1 f 0.01486 0.00666 0.00653 0.00651 0.00602

2 f 0.01552 0.00695 0.00682 0.00679 0.00629

3 f 0.01439 0.00644 0.00632 0.00630 0.00583

4 f 0.01321 0.00591 0.00581 0.00578 0.00535

5 f 0.01285 0.00576 0.00565 0.00562 0.00520

6 f 0.01388 0.00622 0.00610 0.00608 0.00562

7 f 0.01358 0.00608 0.00597 0.00594 0.00550

8 f 0.01370 0.00614 0.00603 0.00600 0.00555

9 f 0.01422 0.00637 0.00625 0.00622 0.00576

10 f 0.01412 0.00632 0.00621 0.00618 0.00572

11 f 0.01464 0.00656 0.00643 0.00641 0.00593

12 f 0.01409 0.00631 0.00619 0.00617 0.00571g�h
0.01413 0.00633 0.00621 0.00619 0.00572i Y%j*D-E 0.01417 0.00635 0.00623 0.00620 0.00574

(405 &!' )

k � ;�l�� � 5�7 4 &!'%4-m� �npoFqprts!./0-� �-u &!'%7/v%w%x h 86y%z/{%|6}~ (����#�-����OM4 1
g �6� � ;*I!�/�-�/ F4%|*l ��%� 8���� 2

g 7 u f-�p�6� gMh 7�)%+%G-Hp86K-Lp��1/3M7*N*O 30 Op��.!�����LM� �
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� � � � �
� � � �
� � � � �
� � � � �
� � � � �
� � � � �

��
	����

�
��
��
�����
�� ��� ��� �	�

� �
���
� ������� "!$#�%&('�) *"+�,- +".0/�1"2034$5 �76 8:9 5 �

�
5.1: B-C�D-E��6)�+-A� 2LM�F)*+�G-H�7�I%J�86K%LM��1-3 ( N�O 5 &!' )

5.2
;=<=>=?=@=A=B=CED
FEG
H

X%YJILKNMJO!.-4NPLQ ���SRUT �6j-l-;VMJO%LM� �XW 8*�SY kSZX[ OM4 [ O RUT0 �]\ ( ^J_L` ) 77Y kVa  � ; k C]b2��� � �"c � �Vd-7 [ O�.-4FD-EUeVfM�7gJhLM�Ni!8�� c]\�j �2l/7%. @ 5.2 7�sM�6j/l-; [ O/D-E a 0 �]\ 77Y kVa 86IJk ��ml 7/�SnUo ����� |*�-� @ 5.2 7�s�4 g�h 7 u &!'-7Vp�Xrq��Vd-7�&�'%76D-E a
(
@

3.2 sXtVu ) .Uv ���ml 7�.!0/� � � � � 407 &�'�./77Y kNZX[ Op8*��>-�Sw%Ex �Jy  F4�� u D-E!77Y kSZX[ Op8Vd-76D%E!7Sz%�-9��7{ r �Ll 7-�}|�~ �ml 7�.0-� �
@

5.2:
[ O-D-E a 0 �]\ 7Vp�Xrq
&!'7� ^U_L` /MWhZr� C 0.01972B-C 0.01973_-C a�d-765 0.01959i Y%j%E%CUt 0.01971
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5.3 ��� 2 � A ��� ;=<=>=?=@
�*��� g 7 g�h��
	���
 76D-E a�� @ 3.2 srtVu��!��j-l-;NY kSZX[ Op�St�� ��6� d%7����!( @ 5.3 .-0-� � @ 5.4 4 g!h 7Sw%E x �Vy!7}Y k7ZX[ O  �� u D-E-(

@
5.3: �*� 2

g 7 g�h Y k7ZX[ O
&!'6H &!'7� t-CO2/ ^U_L` g-CO2/MWh

405 &!' i Y%j%E%C 25.23 497.3

407 &!' Zr� C 0.67 13.2B-C 40.7 803_-C a�d-765 0.37 7.3

d-7Nw%E x �Jy!77Y kSZX[ O�7�����o2�/=/>%�����*;�l�� c � @ �2�ml 7�./0-� �
@

5.4: �*� 2
g 7 g�h 7Nw%E x �Jy �! 

"$#&%('�) Zr� C B-C _-C a�d-765
Y kSZX[ O (g-CO2/MWh) 497.2 3.5 492.8 0.9* W �,+Us (%) 0.7 99.1 0.2

@
5.3 �����(-���. &/'%7(/6.-4 ZU� C� #_%CXd-7F5!(/m�0 0 8�1%l/7-8FK � ;%�B-C/(*? k � ;�l�� � d-7 �XW � @ 5.4 8%0-�-�2��8Sw%E x �Uy!7 99% �FB-C�D-E(�����;*l�� � @ 5.3  @ 5.4 �6��9�:M�/ 405 &/'�.%7 i Y%j�E%C/77Y kSZr[ O  

407 &!'�.-7Nw%E x �Jy!77Y kSZX[ OM4!3�4 � ;�l!�! 65��*;��Fl �
5.4 ��� 2 ��7�8�9 A=;=<=>=?=@=A�:�;
�6�<� g 7 u f/7�D%E a!=&>?� @ 3.2) ��j�l%;SMVO �2� �&�!7:Y k}Zr[ O/( @ 5.5 �

5.6 ./0-� � @ 5.6 �-v%w%x�8 ���ml 7*( � 5.2 ./0%� �oF76D-E l f2@/ F7�I%J!4-m� �npoF|*l � s�4!A�B�7 g�h .-7����  Fqpr�C#� Z� C/��_-Crd-7F5!(-m� �npo 0 ./0%�*7%86K � ;6B-C-(!D 800g-CO2/kWh  #? k �;*l�� � @ 5.7 4Nw�E x �Jy/77Y kSZr[ O!./0%� � [!E  �lF�27�4�� @ 5.5 8Nd*�$G�/7Sz��%9�� c > �Ll 7*.-0 \ �Nd%7SsUt/(Nw�E x �Vy!7}Y kSZr[ OM8*|��6;�l!� �@
5.7 �-v�w�x�8FLM�/ � 5.3 7/�H�28�|�� ��� w�E x �Jy!8FLM�/ c | \ 7�I�J/(� �#�/��I�J� F|-� 2 f  KI%"� F|-� 5 f-.-4�D 130g-CO2/kWh 7!L-(/0-� � d%7
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@
5.5:
u D-EUeVf�7*�*� 2

g 7 1
g�h 77Y k7ZX[ OM7 =�> (t-CO2/ ^J_L` )

Zr� C B-C _-C a�d-765
� f 0.68 40.74 0.38� f 0.69 40.75 0.38. f 0.67 40.71 0.37
� f 0.65 40.64 0.36
� f 0.65 40.63 0.36
� f 0.67 40.69 0.37
� f 0.67 40.71 0.37
� f 0.68 40.72 0.38
� f 0.67 40.71 0.38
��� f 0.67 40.69 0.37
�	� f 0.67 40.71 0.38
� � f 0.67 40.70 0.37�Jy 0.67 40.70 0.37

@
5.6:
u D-EUeJf�7*�*� 2

g 7 1
g�h 77Y kSZX[ OM7 =�> (g-CO2/kWh)

Zr� C B-C _-C a�d-765
� f 13.45 803.8 7.48� f 13.52 804.1 7.53. f 13.25 803.2 7.34
� f 12.85 801.9 7.05
� f 12.78 801.7 7.00
� f 13.15 802.9 7.27
� f 13.24 803.2 7.33
� f 13.32 803.4 7.39
� f 13.30 803.4 7.37
��� f 13.16 802.9 7.28
�	� f 13.28 803.3 7.36
� � f 13.23 803.1 7.32�Jy 13.22 803.1 7.32
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 � 
 � �

� �
�� �
� �  !"#
$ %&'
(

)+*-,./,0 ,-1 24345

�
5.2:
u D-EUeJf�7 1

g�h 77Y k7ZX[ OM7 =�>
[!E!4 g�h 7�6Js� Fqpr�����8 99% 7%3!(�B-C c ��7 l 7*. Zr� C-��_%CXd-765 c��798
:�4%m� �npoF|*l �

5.5 ��� 2 � A ���<;>=<?>@BADC>EGFIHBJ A>K ?<?>@ ALNM>O>PBQ ;>R P A=;=<=>=?=@
�*� 2

g 7 g�h I$J%E%C��So � ��� � f �TS 76D-E%E%C!7VU 	VW�X  KI-" X 77Yk7Zr[ OM� @ 3.5 �Fj%l%;Nt�� �2� ���!4 @ 5.8 � 5.9 7/���28*|&� �6� @ 5.10 (Sw�Ex �Ny/7}Y k}Zr[ O/�!���Ud%7*[�E!�-Y �2�Ll 7*.������!��v�w�x6. @ �2�Ll 7*( �
5.4 .-0-� � D%E a 77z%�%9-( c | \ y/|/��7%8 g!h �Ff h 7����� �qpr&C u D%E
Z7}Y k7Zr[ O�4 @ 5.8 � 5.9 �6�!�/ Fm! �nMo#I\[ � ;�|�l �M�"cp� �"w�E x �Vy/7�I" X 4MoF7 g!h�] f\^�7�_ 	�� � \7l "]b�C2�`U 	VW�X  F7!L/4�D 170g-CO2/kWh8 l-a�b*�
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@
5.7:
u f!7Nw%E x �Jy!77Y kSZX[ O (g-CO2/kWh) �M���rd-7%[!E�� �

�������
(%)

w%E x �Jy Zr� C B-C _-C a�d-765 Zr� C B-C _-C a�d-765
� f 537.8 3.4 533.8 0.6 0.6 99.3 0.1� f 550.6 2.9 546.9 0.8 0.5 99.3 0.1. f 503.2 3.3 498.9 1.0 0.7 99.2 0.2
� f 432.3 3.8 427.3 1.2 0.9 98.8 0.3
� f 420.0 3.9 414.8 1.2 0.9 98.8 0.3
� f 485.7 3.4 481.3 1.0 0.7 99.1 0.2
� f 501.4 3.6 497.1 0.8 0.7 99.1 0.2
� f 515.5 3.6 511.2 0.7 0.7 99.2 0.1
� f 511.5 3.4 507.3 0.8 0.7 99.2 0.2
��� f 487.7 3.5 483.2 1.0 0.7 99.1 0.2
�	� f 507.8 3.4 503.5 0.9 0.7 99.2 0.2
� � f 498.8 3.6 494.4 0.8 0.7 99.1 0.2�Jy 497.2 3.5 492.8 0.9 0.7 99.1 0.2

�
	 � �

 � �
� � �
� � �

 � �
� � �

� ��� ��� ��� ��� ��� ��� ��� ��� � � � � � � � � � �

�  
!" # $
% &'()
* +,-
.

/1012 354567 08:9 0

�
5.3: w%E x �Jy!77Y kSZX[ O!���F�rd-7%[!E!7 g�h 7 =�>
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@
5.8:
g/h I�J*E*C/�}o � �#� S 7FD�E a 7�U 	�W9X  I%" X 7:Y k7ZU[ O (t-CO2/

^U_L` )

Zr� C B%C _-CXd-765U 	VW�X 0.68 40.70 0.38I-" X 0.64 40.60 0.35

@
5.9:

gMh I�J-E-CM�No � ��� S 7�D!E a 7�U 	�W\X  6I/" X 7NY kNZL[ O (g-

CO2/kWh)

Zr� C B-C d-765U 	VW X 13.5 804.0 7.5I-" X 12.6 801.1 6.9

@
5.10:

g�h I$J%E%C��So � ��� S 76D-E%E%C!7VU 	VW�X  KI-" X 7Nw%E x �Jy!7
Y kSZX[ O (g-CO2/KWh) �M�F�rd-7%[!E �! 

(g-CO2/KWh)

�
�������

(%)

w�E x �Jy (g-CO2/KWh)
Zr� C B-C d-765 Zr� C B-C d-765U 	VW X 545.2 2.6 541.6 1.0 0.5 99.3 0.2I-" X 388.1 5.4 382.1 0.6 1.4 98.4 0.2
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�
5.4:
g�h I$J%E%C��So � ��� S 76D-E%E�C!7VU 	VW�X  KI-" X 77Y kSZX[ O
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6.1 �����BABF�H���� A�� @ K ?BA���	�
 Q��
� ��	���ED�� �
����� B=C
�

5 �!86B-C%D-E���)�+/A� �LM�6)�+%G-Hp86K-LM��1-3��rO�7!���p�9Y ��� (
�

5.1)
� d � ;%� u &�'%7/v-w%x h 86y%z!{-|�} ~ (%���#�!�F1/3�7&J��mb676��OM(g�h �6� � ;��%I/./0-�! �l �����!(/0�� �6�

�� "!�#�$�%�&�'�(*)�+","#*- �*.�/
u f!7F1%3�76��O�(��%I/./0-�*7%410!73254�8/���! 76 ~��#�M� ��
2 �/718 (2.32) 89Y ��� �H��8�1-3�4

sa,ij =
āij

L
toi

n
∑

l=1

b̄jlpl (6.1)

7!�2��8�9�8 [ b�� ��� �-�6.-��:�;$��<*=VY kJa �1> W �Ni/4�� pl=fl .!0-�c �
n

∑

l=1

b̄jlpl =
n

∑

l=1

b̄jlfl (6.2)

= x̄j (6.3)

 F|/� � �2� ((�*;61-3�4
sa,ij =

āij

L
toi x̄j (6.4)

 @ b2�M� � L 4@?!�1AM8JK6GM|HC63"9/76s!.%� toi 4@?�7UK6H!./0-� � = c ��qpr)�+/A ( q!3!71? ) ./0���- āij × x̄j 8/� \ }-K!{-|F1/3�7&J��mbF(1B��!�*7%=%(%�
āij × x̄j 4�X%YVImK @ .%76s (

@
2.2 .-7 Xij)  F|��*;�l!� � d-7 �rW �6B-C*D-E��)�+-A� 2LM�F)�+�G-H�4��*X%YJImK @ 76B-C�D-E!7@?�76sM7!J��mb�.���O�(1B��$�; � ���27*.%�-q!3�?!.-7@A h 7�9�C!41D"E%(-|*l  �lm~%� �

6.2 F�G�H
I�J D�K � ;=<=>=?=@ Q A�L�M
N \-]!76X�YJILK @ 8-�*�Ff\^!77Y k7ZX[ O�7������ @ 5.6 � 5.7 8 Y �2�6� 3�z-�O�PRQ�S c � @ 6.1 8 Y-L�T*U%N"V1W!�6j-l � Y k7ZX[ OM7�_ 	�� ( X�6�Y�Z [7]) �[ l � 7�.�9�C � ;�6�\%LM� �
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@
6.1: T*U%N*V1W!8/���:Y kSZX[ O (g-CO2/kWh)(

O"PRQ�S � \ )

B-C�D-E-�Jy w%E x �Vy
1 f 738.2 497.8

2 f 730.9 505.1

3 f 730.1 457.4

4 f 737.3 396.6

5 f 740.5 388.4

6 f 792.1 483.5

7 f 753.1 474.6

8 f 753.1 488.3

9 f 783.3 503.3

10 f 756.6 461.1

11 f 760.5 481.4

12 f 805.2 501.0�Jy 757.4 471.4

6.2.1 ������������	�
���
������N \/]-.�� �#� � X%YJILK1W�8/����B-C�D%E!77Y kSZX[ O  O�PRQ�S c ����� �; [ l � T*U%NRV1W�8/�%��B-C�D/E!77Y kNZX[ OM7*f
Z/7�IT[p� � 6.1 8%0�����;Y-L � 2 <!7!v%w%x%����9-:M�� 6L ] I%J�86}��!(!0-� � d/7 Z�� 4�� �/7!�H��8
6 ~��#�M� �

• L!
�/.#"-: � �H��86X-YUImK�W!4 h�$ {-|Jp�X&% a ' �M��( W ;Ngrh!.R�-�7-8�K � ;-�1T*U-NRV�W/./4�)�*,+ S ��- �-�! �8/.#0!(/0 \ ��1-"UgrhM8|$�*; � ���3254�(!0/� � �F�/( �t<!7!v-w%x�7&L� 6|$�*; @ �!;�lM�� 76
~��2�M� � X-YJImK�W/.-4 g�h �Uy!4 803.1g-CO2/kWh .%�1TRU%NRV1W/./4
757.4g-CO2/kWh ./0 \ �Ud-7!L!4�D 45g-CO2/kWh  F|$�*;�l�� �

• I%J!76}/�T*U-N*V�W�8!��� _ 	�� 869-:/; N \!]/.#� �2� � X-YJI K1WM8/�%�,�$��7v�w�x*76I�J/(�"�b2l � �67 Z6� 4@0!7/����836m~!�#��� � E�C/7�8-(�"�b�lX 8%4�E-C�9�:�4�;&<�=p�@6 ~�; '�> 7Vq-l*B/C�D/E�?/@p7�U��BA!j � ;�DE � ;*l*��-/C*l � �:cp� �6E�C/7�8-(&JR��CF|�� �]\ �Sq '/> 76D%E/?#@�(D�E�F .,A ~�|*l����2| X 8*4�����G%.-4BA��6;�l-|�l '�> 7,H-l*D%E#?#@p8
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�


��

� �
�� �
� � �
� !
" #$%
&

' ( ) * + , - . / 0 1 2 3 4 5 +

�
6.1: X%YVImK1W� T*U%N*V1W (

O�PRQ�S ��� ) 8/����B-C�D-E!77Y kSZX[ O
���6;�D%E � |->F�(-�|p��|�C�|/� � T"U%N"V@W�8-�*�}MJO/.%4 u f/77698�7
A/j a c �$Y k7ZX[ Op�3> W ;�l�� �XW 8Vd-76I%J��,(/n%=!���!(�� �#�M� ��"cp� � N \-]-.%46B%C*D%E�&!'*.%4FD%E/?#@M��3;:�| l 7� � ; �"c=< ��� �(�.*�*|�l �rW 8���D%E#?#@M7,�-l/8-���"Y k7Zr[ O�76I�J-(VM?>\[]b2�-;m� �npo2���#�!|HCF|$�*;�l�� �

6.2.2 @��BADCFE���� 	5
���
������N \/]-.�� �#� � X%YJILK1W�8/���7w%E x �Jy!77Y kSZX[ O  O�PRQ�S c ������ ; [ l � T*U-N*V1W�8!���7w%E x �Jy!7SY kSZX[ OM7�f
Z/7*IT[M� � 6.2 8%0%�
�!;�Y-L �

2 <!7\_ 	�� 7&L ] I%J�7��/l!46B-C�D/E� Fq=GM7@254�8!���! 76 ~��#�M� � �c � � 2 <!7/v%w�x*7,2�4%4 6 f/� 9 f/� 12 f��Vv�l-;-4!�$C ~ ;�l��! K5 ~%� � 6f/� 9 f!� 12 f�4 � 6.1 .%���! 2B-C!7SY kSZL[ O�(*5�7�f  29�C � ;Jq C6|$�*;l��Ff-./0-� � ��7!�/ c �tD-E/?/@M7�=9H/(*I!�/�Ff/.-4@T"U%N*V1W�8/���7MJO869%:��! JI9K�8ML � ;�l-|*l&���!( k ; � � �#(%�Ud*���?N!7�f/.-4=OQP�|@�UO(%.*�-�! K5 ~%� �
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� �
�� �
� � �
���
�  !"
#

$ % & ' ( ) * + , - . / 0 1 2 (

�
6.2: X%YVImK1W� T*U%N*V1W (

O�PRQ�S �/� ) 8/���7w%E x �Jy!77Y kSZX[ O
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6.3
��� O������	�NM	
��

(MGT)
D K ����
�������M

�	� � � ������� 	 A����
��� W * Q�S(�!	���� ( � � MGT) 8/���! #"!$&%(' 	*),+-� �&.�+ ��� i-71:;���<M� � <!7�/�W c ��gUh-LM� � D-E a 4 MGT 8/�&�*;�D-E]b2�M�7M/=/>F5�7D-E!76D%E a �-0 � � ;#1�2]b2�M�*�->*=%(%�MoF76D-E�8/�!�*;#1�2 b2�/;�l�� c8/�&�*;3 #"!$&%!7SgUh!4!J���C2y!|/� � Y kSZX[ OM7!J���l�B-C�D-E/.#1�2 b2�;�l��! #L%��-��Vw%E x �Vy�869%:/;�.�+�7 ' ��4Vq C�gUh b2�M� � d-7 �XW �&45 Q�S �Fj-l �  #"6$7%��-.*+ b�� � l Q�S 9#:!46B%C*D-E/7}Y k7Zr[ O!.���3�z-�E%C�9#:�4Nw%E x �Jy!77Y kSZX[ O�.NgUh-LM�%�/ 6�#8!9 � ;�l�� � ��716�\/.-4

2 <!7�/�W�86<-l-;Ud*�$G*�!76sM�6j-l-;�6�\%LM�-�/ 68FLM� �
6.3.1 :<;(=?>A@?BDC�E(F

Capstone :!7&G;8 c � MGT 7}Y k7Zr[ O a � '/> 7 _ 	(� �B� � (
@

6.2 � 6.3)
�

_ 	�� 8*4&H9G!��I�J�K�L!(Vo]b2�/;�l/| c � � (%�SY kSZX[ OM4#I�J X 8#M6N%L� 6 8 a 7�U/7�_ 	��  PO-���M� � ��� ��7�_ 	�� �6j-l��! =Js '�> 8/���:Y kZX[ OM7�I\[�4 @ 6.3 � � 6.3 7!�H��8*|/� �
@

6.2:
��� W * Q�S(�!	���� 7}Y kSZX[ O (Capstone :!G?8 � \ )

lb-CO2/MWh g-CO2/kWh

Y kSZX[ O 1800 816.48

@
6.3:
��� W * Q�S(�!	��#� 7 '�> (Capstone :!G?8 � \ )

'/>
( Q )D-E '�> 24

 #"!$&% 51

=Js '�> 75

R*S#T # ##U�V�WPX �&Y��
B-C�D%E!4 g�h .-77Y kSZr[ OM7�I%J/(*"]b2l/7�.%� g�h 7��Jy�s�7�U-.NgUh-L� � @ 6.5 (Ud-7�B-C!7SY kNZX[ Op7 g�h �Jy-�p�F��=Js '&> ( 24% � 25% 7M 1�
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@
6.4:
��� W * Q�S(�!	���� 71=Vs '�> 8/���:Y kSZX[ O
=Js '�> ( Q ) Y kSZX[ O (g-CO2/kWh)

24 816.5

30 653.2

35 559.9

40 489.9

45 435.5

50 391.9

55 356.3

60 326.6

65 301.5

70 279.9

75 261.3

�
� � �
� � �
� � �
� � �
� � �
� � �
� � �
� � �
	 � �

� � � � � � � � � � � � � �

���
���� ���

� �
�
� �
� � �
��
� !
"#$

�
6.3: MGT 71=Js '�>  �Y kSZX[ O (Capstone :!G?8 � \ � k )
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@
6.5: BMC g h �Lyp7VY kJZ [ O
 MGT 7�=Ls '6> 8p�/�SY kJZ [ O (g-

CO2/MWh)

� �����
B%C g�h �Jy 24% 25%

Y kSZX[ O (g-CO2/MWh) 803.1 816.5 783.8

7}Y kSZr[ O!./0%� � 25% . MGT 76z/(7Y k7Zr[ O!(�"�b�C�|��6;*l�� � 24% (�DE '&> ./0/�-�/ c �$Y��M��� � . l	� j-L%��-%� MGT 8/�%�! #"!$&%�7#.�+�(:�;���<�
��/7�
 c ��41D*E%(/0-�! 	� ~�� �
"$#&%('�) #�U�V�WPX �&Y��
�

6.2 8 l Y ��� N \/]�7Nw%E x �Jy!77Y kSZX[ O 8@=Js '&> ^�77Y kSZX[ O ���� s����M�! � 6.4 7/�H��8�|/� �

� � �
� � �
� � �
� � �
� � �
� � �

��������������� ��!��"��#� �$
�
��
�
�
��

% &
'( ) *
+ ,-./
0 12
34

5	687:9<;� � =� � =� � =� � =� � =

�
6.4:
N \/]!7Nw%E x �Jy!77Y kSZr[ O  MGT 71=Js '�> ^�77Y kSZX[ O

�
6.4 86<-l-;�=Js '/> ^M8�� �/8@6�\%LM� �

• =Js '�> ( 35 Q#� �-7�6Js
Y kSZr[ O!( 1

g �F� � ;Vw�E x �Vyp� \ q�l/7*. MGT 8/�*�! &"�$7%!7&.
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+�41:�;���<�7 D c ��41D*E%(-|*l �
• =Js '�> ( 50 Q#� �-7�6Js
Y k7ZX[ O�( 1

g �F� � ;Nw%E x �Vyp� \ H/l � d-7 �XW g�h �6� � ; MGT7* #"�$-%������ ��� z/(�:�;���<�7 D .-4/C*l �-� = � � MGT 7* #"�$-%7}Y kSZr[ O�7 _ 	(� 4 h,$ 7 8 :��B(!n�.*l-|*lp O-�6�M��7*.������!|SM
OM�3?��6 *� \ J���CF|/����	/=!(Jq%l �XW�
 D/(���8/./0-� �

• =Js '�> 35 Q�
 50 Q-7�6Js
MGT 73 &"�$&%!�&.*+ ��� z/(�:�;���<�7 D .-4/C*l c o�� c 4�f!8/�!��;y!|-� � �:c � �!�%�6.%4 Capstone :!G;8�7#K6L F (�����./0%� �XW 8����
�!|16�\/4�� ~%� �

6.3.2 1 ���������/� CO2 ����� @?BDC�E(F� ^%Z%Y/(  #"!$-%D' 	!),+-��)�S��! �-.�+-LM�Ni/8�4��Jd*���&.�+-LM�-�/ 8-� \#" 0]b2��� CO2

a �7t�� � ;NgJh � ;�l!� � d-7St���z�W!� O�PRQ�S 76"%$&('!) c �+* ~*;�l � =�l ���(,�- 4 @ 6.6 8-H GM�9Y/L MGT 8�<-l-;-� S/.(0S/132 . � 
 � � X-h .�0 � � 4/)!w S�4 7#I�J�K6L!.�6�\%LM� �
@

6.6: Capstone Turbine 765�738�H9G (
O�PRQ�S .�9�:!��;�<(=H/ )

Capstone TurbineU%E�>%D-E k C [kW] 28.0? � -�@ � a [kW] 49.6

6 8*M6N a [Nm3/h] 10.0D-E '�> [%] 24.0

=Js '�> [%] 67.1

|6�*NVo-7-I�J6K#L-.�4 Capstone Turbine 7 � X�h 0 � \ 7 CO2 Y kSa 4 23.6kg-

CO2/h  �l �F�/ �./0-� �
• MGT ( � X/h . J%Lp�-�! 68!�&�*; " 0 � ��� CO2

a 4#� �/7�6Us!(�A*9
b2�M�
� � MGT

. J�8/� \/B3C b2�M��D�E aB-C�D%E�E!.#1�2 b2�M�*|M�,-6B-C-�Jy CO2
ZX[ Op�BA/j � _-C/� Zr� C�DE�E l 162 b2�M�*|p�,-Nw%E x CO2

ZX[ Op�BA/j �
52



� � MGT 77Y��M� -�@ LM�-�/ �. B3C b2�M� [��?698 � Q�S � ��� �����$�o�79[��;698!( B(C b#��� c 4/��7 MGT (�.*+ b#� � 7/8���8-����;!�- F|� � 4 5 &/.-4-4 5 Q�S�� � w6./0-� �
	 z!|p�,- LPG
l!� C�4 ��� ��� � F|/� �

� �!7Nt��
28.0kWh 
 .�0 X-h ( ��7�6Js�4 1

X-h
) 
2B-C�D-E CO2 Y kSZX[ O or w%Ex �Jy CO2 Y kSZX[ O a a a � A �� �!7Nt��

49.6 
 860(kcal/kWh) 
 .�0 X%h ( ��7 6Vs!4 1) 
 1/
� � w '�> ( �*_ Q�S��� w�. 0.85) 
 6 8�7 CO2

ZX[ O a a a � B �N \/]/.-4M6 8�7 CO2 Y kSZX[ OM4-4 5 &��!7#.�+M�@6 ~�;&4 5 Q�S 7�_ 	�
(214.10kg-CO2/Gcal[4]) �6j%l!� � LM�/ MGT 7}Y���� -�@ L��%�- �. BC bt���-[�� 698!7&M�N!8-��� 1

X%h 0 � \ 7 CO2 Y kNa 4 10.7kg-CO2/h(B) F|/� �
MGT 7 1

X/h 0 � \ 7 CO2 Y kJa 4�H Gp7p ����*.��!l � � ��8 23.6kg-

CO2/h(C) ./0-� �

• 1
X-h 0 �]\#" 0]b#�M� CO2

a 4 A+B-C ./0%� � N \/]-.-4���w�� 	���	  � ; A 77Y kSZX[ O  C 77Y���7 � j > 7 2 <��� �� �6�
A + B −C > 0 7 6Js!43 &"�$-%!7&.�+�8/� \ CO2 Y kVa " 0!7 ' �!(-0-� �
A + B −C < 0 7 6Js!43 &"�$-%!7&.�+�8/� \ CO2 Y kVa " 0!7 ' �!(%|*l �

• A 4 N \/]�7�X-YUImKVMJO*W���j-l/;%l�� �XW 8 h�$ 7 8�:M�SgUh � ;%l��(%� B � C 4=6 8M7,A!j�8!��� CO2 Y kJa 7�U �}c 6�� � ;�l!|*l!7�.#1-"
gJh]b2�-;*l��/ 6m~%��7*( O P�.-0-� � ��8�� ��� W * Q�S$��	��#� 4F5�7D-EUeJfM869%:/;!w � x�� � W,
 (��-l �XW 8*��������7!.-7 CO2 Y kVa 7+Us�(&J ��C6|!�! 7O/�*�M� � gUh/LM�Vi!8�4���7 D 8 
 D � |->���--|p�|*l �

R*S#T # ##U�V�� �&Y��
B-C%D-E-&!'-7�U/.-4 g�h 7*I%J!(*" b�l!7�. g�h �Jy�77Y kNZX[ Op��j-lM� �D%E]b#� � E%C/4�L�:/; � j �2�  � ;��}Y�� � j > 7�I\[M8�� r � CO2

" 0 a �@
6.7 8 Y-L � � � j > ( 10% �%N!0F��-Fs�4��  F| \  #"�$-%6.�+�7 ' �/( k � �

MGT .-47Y kSZX[ OM7��6� ����!#"-7 CO2 Y kVa 769 � (&J���CF|-�-�/ 6�@6 ~
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@
6.7: B-C g�h �Jy/.#1�2-L��96Js�77Y kVa 7!L

Y�� � j > (%) 0 10 20 30 40 50 60 70 80 90 100

A+B-C(kg-CO2/h) -1.1 0.0 1.0 2.1 3.2 4.2 5.3 6.4 7.4 8.5 9.6

�! l �� :q%lNY�� � j > (���8� F|/�! ���A]b2�M��(%��l�����8 � ; l 9�C/{�Hl�� � j > . l  #"!$&%�.�+�71D*E%(/0-� �
"$#&%('�) #�U�V�� �&Y��
w%E x �Jy!7 u f!77Y kNZX[ Op� @ 6.8 8 u f!7Nw-E x �Jy  � � j > ���m~ �6Js�7 CO2

" 0 a � Y-L � o67�f l � � j > ( 80 
 90% �-N/|/>6��- CO2

" 0M7
@

6.8: w%E x �Jy/.#1�2-L��96Js�77Y kVa 7!L
Y�� � j > (%) 0 10 20 30 40 50 60 70 80 90 100

� f -8.5 -7.5 -6.4 -5.3 -4.3 -3.2 -2.1 -1.1 0.0 1.1 2.2� f -8.2 -7.1 -6.0 -5.0 -3.9 -2.8 -1.8 -0.7 0.4 1.4 2.5. f -9.5 -8.4 -7.4 -6.3 -5.2 -4.2 -3.1 -2.0 -1.0 0.1 1.2
� f -11.5 -10.4 -9.4 -8.3 -7.2 -6.1 -5.1 -4.0 -2.9 -1.9 -0.8
� f -11.8 -10.8 -9.7 -8.6 -7.6 -6.5 -5.4 -4.4 -3.3 -2.2 -1.1
� f -10.0 -8.9 -7.9 -6.8 -5.7 -4.6 -3.6 -2.5 -1.4 -0.4 0.7
� f -9.6 -8.5 -7.4 -6.3 -5.3 -4.2 -3.1 -2.1 -1.0 0.1 1.1
� f -9.2 -8.1 -7.0 -6.0 -4.9 -3.8 -2.7 -1.7 -0.6 0.5 1.5
� f -9.3 -8.2 -7.1 -6.1 -5.0 -3.9 -2.9 -1.8 -0.7 0.4 1.4
��� f -9.9 -8.9 -7.8 -6.7 -5.7 -4.6 -3.5 -2.5 -1.4 -0.3 0.8
�	� f -9.4 -8.3 -7.2 -6.2 -5.1 -4.0 -3.0 -1.9 -0.8 0.2 1.3
� � f -9.6 -8.6 -7.5 -6.4 -5.4 -4.3 -3.2 -2.1 -1.1 0.0 1.1

' �/(����#�/|*l � 4 � 5 f�86l � �*;-4 � � j > � 100% 8 � ; l CO2 4 " 0 b2�|*l ��� � ;SY��M�Sw/;�A2�*; ] �� � #"�$#%6.�+�7 ' �!(/0-�! 	� ~%� �
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6.3.3 ���������
	���
���� (MGT) @?B<C�����������
��������
	� �!�"�#��(EDF���$&%('

�%N/7@6�\M� \ MGT 7* #"�$-%6.�+!7�)+*/4*���M�7d @ 6.9 � 6.10 7/�H�28�|�����
=Js '�> 8!���7gUhp8JK � ;%� @ 6.9 4 MGT 7  #"!$&%�.%+!(�, � 8%|/�@=Js '>  ��Ud-7Ji-76D-E a � 1  ��� X 7 � j]b2�M�F:��}Y�� a 7�+UsM�SnUo ����� DE '�> 4#G/8 24% 8,?*9 ���6�
CO2

" 0 a 8-���:gJh�8JK � ;%� @ 6.10 4 MGT 73 &"6$7%�.*+!(-, � 8�|-�"Y��
@

6.9: =Js '�> 8/���}gUh!. MGT 7#.�+/(., � 8�|/�3=Js '�>
=Js '�> Y�� � j / D-E aB-C-�Jy 25 Q#�-N 0.04 �-N

w%E x �Vy 50 Q#�-N 0.96 �-N
� j >  ��Nd-7Vi-7FD%E a � 1  �2� X 7 � j�b#�M��:��:Y�� a 7�+Js��SnJo �2�6�

@
6.10: CO2

" 0 a 8/�*�}gUh!. MGT 7#.�+!(., � 8�|/�:Y�� � j >
Y�� � j Y�� � j / D-E aB%C-�Jy 10 Q#�-N 0.18 �-N

w�E x �Jy m�0 100 Q 1.78 �-N

E%C�7/8� �&7�8!7���<�� �!	 � 4!J���C2y/|/� �XW 8*� N0/ 4 X-h Z/|MoF7��c lJMJO/(���8-./0%��(%� N 6�\-.-4 g�h .%7NMJO�8� %o W � � @ 6.11 4@X�6�Y�Z
[8]
c �
��1-j32�% 
(4�	 7 g�h ��< a �JQ�j �2�ml 7*./0 \ � g�h E%C���<�� 1  ��� X 7 g�h-5�6 ��<M�%0*���!;�Y ����� �%�6.-4-7�8M8-2:9* � 8/���<;�=M�3?� �.1M�6K�>� � ;�l!� � =Js '�> 8/�*�}gUh!� CO2

" 0 a 8/���:gUh3?�8�B-C-�
@

6.11:
g�h E%C���<  g�h-5�6 ��< � Y�Z [8] �

g�h E�C���< g�h-5�6 ��< sUt��< 8908.135kWh 4548.835kWh(3912Mcal) 13456.97kWh��<�7�9 1 0.51

y�8/� \ D-E a (#1�2 b2�M�/ 76 ~F��-3 #"!$&%6.�+�7 ' �!( k � � �:c � �Vw%E
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x �Vy/.-7&162  2L%�(-3 #"�$&%6.�+�7 ' �!( k |*l � =Js '�> 8-���}gUh� CO2" 0 a 8-���}gUh�7�6JsM�69�C%LM�! ���B-C%�Jy�8/���71�2!�Nw%E x �Jy�8/���71
23?�83=Js '�> 8/���}gUh!7�z/(�H/l�� � j > . lB' �!( @ �M�-�- 68�|/� � ���41=Us '&> 8!���F9"C/./4��  2E-C a � ?M8 kWh .Ngrh � ;�lM� c ��.!0-� � � 2E � .-4.2�% 
(4!	  � ;-7 H/(*y!| \ �*E � 7�z/(�A!l��*//7�
 c ��4��-�-;l��! 2l �F�/ 6�@6 ~%�! ���7SgUh"W!4��M�B1$JJgUh � L��*;�l!�! �l �	�->M��
>-� �
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N \/]-.-4�X%YJImKNMJO��6j-l-;*E%CJz%�T^M8@:�;���<M�7gUh � ;#� �-7����M�
� ���

• A����/(%|�lp 2l � 8"9-76A/.%76)*+*G-H!76I�J�8-�*� :�;���<!7�1%3�4*��)+-A!(-q&3/.!0-� 6Jsp8%4Jd/76sp�69"C%Lp�-�! �(;O P*./4%|�lM�! 6� Y�����

•
g [ O  �f [ OM.-7*X%Y h 7VPLQ-4-qpr�./0/�! +8*9���;%�*f [ OM.SY kSZ[ OM�SMJO�� ��� d-7����M�3T*U�N*V1W�8/���}MJO  29�C�LM�-�/ 68-�&��;%�f [ O�.�X%YJImKNMJOM�3?H�*; l OQP�|����M�,� �#�M�-�/ 6�9Y�� ���

•
�6� W * Q�S$��	��#� .6D%E%L��}M/76E%C!����B%C*D-E c � 162��2;*l!�*7 c
d��  l w�E x �Jy-.&162���;*l!��7 c  2lF� 8*9%(�� �6� W * Q�S$��	��#�8-�*�! &"6$7%(' 	*) +7� 77gJhM��JR��C	��
%LM� � B-C*D%E�8-� \ 162]b2�;*l!�! #L��96Vs!4Nw�E x �Jy-.&1�2��2;�l!�/ #LM� 6Vs � \7l�� !�8! #"�$
%!7#.�+�7 ' �!( k �-�/ 6�*��=Js '�>  CO2

" 0 a 7 2 <!7SgUhM8/� \ Y
� ���

3%z/� ,�
 7����  ���;-410!7 2
D (��RVp�#�M� �

• B%C*D-E/4FD-E�E�8/����; '/> 7�L-(-0-� � d%7 �XW ��0%��� h �FK�>�8FX%Y
ILKSMJO%L��Si-8�4*��D%E a 8}| ~6;Jd%7�� h /*8 . J��2;*l!��D%E�E!7 '/>�36��%L����/8-(/0%� ��'/> 8�� � c 7 � U � >��FLM��|�o�76z�W-(16m~��t���(%�Ud%7�9�8T[!(��!���M� �

•
��� W * Q�S��&	��6� 4-��=�H9G�(��*9���;/|*lp�H��|�!#"-./0/� � 5M76DEUeJf� 29�C���;NgJh-LM��8�4 � ��� � ��� _ 	�� (-��=-��=����UM/./0 \ �
d*�����(��b �p�-�/ �(���8/./0-� �
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@
A.1: 1 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0845456

2 	�P ��� ( J�� ) 0.0820606

3 + � � � p  � W � 	 � 0.0437339

4 � h���� ��� 
 h H/N���� 0.0349457

5 ��� ( E � � ) � h���� ��� 0.0201682

6 N���I%U N��!I%U 0.0172232

7 
2J��*&�� 
2J���&�� 0.0171829

8 � 
 ) ������� 0.0166303

9
Z � � � ��� 0.0151416

10 ������� 	%P 0.0149557

11
i Y%j�B%C�D-E "%$ 0.0148154

12 
2J��*&�� {-j�� 0.0132698

13 ������� ��������� N 0.0126721

14 
 �*D-E ������� 0.0118307

15 �!���#=���� )!w S�����W ��� 0.0115392

16 � h���� ��� P�� )���	"S������ Y 0.0114816

17 � h���� ��� �� 0.0111932

18 p  � W �K	 � !�"�#�$�%
0.0103436

19 	�P ��� ( E � � ) 0.010024

20 + � � � + � � � ��� 0.00990128

21 p  � W �K	 � &�' ��_%`Ld%765 0.00970283

22 
 h H-N���� W ���(��� 0.00956398

23 )!w S��)�\W ��� )!w S�����W ��� 0.00939462

24 * 
�+%Y 
�,�-�.�/ 0.00901026

25 ��� ������� 0.0089445

26 p  � W �K	 � `�0LKFG�13? i Y 0.00833802

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00734191

28 ������� 3�4 0.00732836

29 � h���� ��� $ ?-j R�5 ��� 0.00728451

30 � h���� ��� !�"�#�$�%
(
!�6 � ) 0.00701406
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@
A.2: 2 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0863323

2 	�P ��� ( J�� ) 0.0837165

3 + � � � p  � W � 	 � 0.0445961

4 � h���� ��� 
 h H/N���� 0.0357425

5 ��� ( E � � ) � h���� ��� 0.0207168

6 
2J��*&�� 
2J���&�� 0.017637

7 N���I%U N��!I%U 0.0175532

8 � 
 ) ������� 0.0169894

9
Z � � � ��� 0.0155286

10
i Y%j�B%C�D-E "%$ 0.0154671

11 ������� 	%P 0.0152629

12 
2J��*&�� {-j�� 0.0136205

13 ������� ��������� N 0.0129441

14 
 �*D-E ������� 0.0120553

15 �!���#=���� )!w S�����W ��� 0.0118029

16 � h���� ��� P�� )���	"S������ Y 0.0117433

17 � h���� ��� �� 0.0114483

18 p  � W �K	 � !�"�#�$�%
0.0105515

19 	�P ��� ( E � � ) 0.0102263

20 + � � � + � � � ��� 0.0100965

21 p  � W �K	 � &�' ��_%`Ld%765 0.00989791

22 
 h H-N���� W ���(��� 0.00979216

23 )!w S��)�\W ��� )!w S�����W ��� 0.00964039

24 * 
�+%Y 
�,�-�.�/ 0.00918804

25 ��� ������� 0.00913276

26 p  � W �K	 � `�0LKFG�13? i Y 0.00850565

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.007491

28 ������� 3�4 0.00748561

29 � h���� ��� $ ?-j R�5 ��� 0.00745058

30 � h���� ��� !�"�#�$�%
(
!�6 � ) 0.00717397
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@
A.3: 3 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0865888

2 	�P ��� ( J�� ) 0.0842585

3 + � � � p  � W � 	 � 0.0449611

4 � h���� ��� 
 h H/N���� 0.0356307

5 ��� ( E � � ) � h���� ��� 0.02032

6 N���I%U N��!I%U 0.0177324

7 
2J��*&�� 
2J���&�� 0.0173489

8 � 
 ) ������� 0.0170111

9 ������� 	%P 0.0153417

10
Z � � � ��� 0.0153232

11
i Y%j�B%C�D-E "%$ 0.0142654

12 
2J��*&�� {-j�� 0.013398

13 ������� ��������� N 0.0129671

14 
 �*D-E ������� 0.0121863

15 �!���#=���� )!w S�����W ��� 0.0117638

16 � h���� ��� P�� )���	"S������ Y 0.0117066

17 � h���� ��� �� 0.0114126

18 p  � W �K	 � !�"�#�$�%
0.0106227

19 	�P ��� ( E � � ) 0.0102925

20 + � � � + � � � ��� 0.0101791

21 p  � W �K	 � &�' ��_%`Ld%765 0.00996471

22 
 h H-N���� W ���(��� 0.00972357

23 )!w S��)�\W ��� )!w S�����W ��� 0.00949203

24 * 
�+%Y 
�,�-�.�/ 0.00926265

25 ��� ������� 0.00916281

26 p  � W �K	 � `�0LKFG�13? i Y 0.00856306

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00753601

28 ������� 3�4 0.00749891

29 � h���� ��� $ ?-j R�5 ��� 0.00742729

30 � h���� ��� !�"�#�$�%
(
!�6 � ) 0.00715154
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@
A.4: 4 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0912557

2 	�P ��� ( J�� ) 0.0892711

3 + � � � p  � W � 	 � 0.0477581

4 � h���� ��� 
 h H/N���� 0.0372011

5 ��� ( E � � ) � h���� ��� 0.0206788

6 N���I%U N��!I%U 0.0188922

7 � 
 ) ������� 0.0178817

8 
2J��*&�� 
2J���&�� 0.017737

9 ������� 	%P 0.0162224

10
Z � � � ��� 0.015745

11 
2J��*&�� {-j�� 0.0136977

12 ������� ��������� N 0.0136411

13
i Y%j�B%C�D-E "%$ 0.0130339

14 
 �*D-E ������� 0.012996

15 �!���#=���� )!w S�����W ��� 0.0122785

16 � h���� ��� P�� )���	"S������ Y 0.0122226

17 � h���� ��� �� 0.0119156

18 p  � W �K	 � !�"�#�$�%
0.0112594

19 	�P ��� ( E � � ) 0.0109048

20 + � � � + � � � ��� 0.0108123

21 p  � W �K	 � &�' ��_%`Ld%765 0.0105619

22 
 h H-N���� W ���(��� 0.0100907

23 * 
�+%Y 
�,�-�.�/ 0.00983793

24 )!w S��)�\W ��� )!w S�����W ��� 0.00971912

25 ��� ������� 0.00966138

26 p  � W �K	 � `�0LKFG�13? i Y 0.00907624

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00797878

28 ������� 3�4 0.00788874

29 � h���� ��� $ ?-j R�5 ��� 0.00775464

30 � h���� ��� !�"�#�$�%
(
!�6 � ) 0.00750388
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@
A.5: 5 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.091305

2 	�P ��� ( J�� ) 0.0894031

3 + � � � p  � W � 	 � 0.0478503

4 � h���� ��� 
 h H/N���� 0.0371592

5 ��� ( E � � ) � h���� ��� 0.0205594

6 N���I%U N��!I%U 0.0189387

7 � 
 ) ������� 0.0178832

8 
2J��*&�� 
2J���&�� 0.0176497

9 ������� 	%P 0.0162407

10
Z � � � ��� 0.0156819

11 ������� ��������� N 0.0136441

12 
2J��*&�� {-j�� 0.0136303

13 
 �*D-E ������� 0.0130302

14
i Y%j�B%C�D-E "%$ 0.0126864

15 �!���#=���� )!w S�����W ��� 0.0122641

16 � h���� ��� P�� )���	"S������ Y 0.0122088

17 � h���� ��� �� 0.0119021

18 p  � W �K	 � !�"�#�$�%
0.0112768

19 	�P ��� ( E � � ) 0.0109209

20 + � � � + � � � ��� 0.0108332

21 p  � W �K	 � &�' ��_%`Ld%765 0.0105783

22 
 h H-N���� W ���(��� 0.0100684

23 * 
�+%Y 
�,�-�.�/ 0.00985675

24 )!w S��)�\W ��� )!w S�����W ��� 0.00967389

25 ��� ������� 0.00966745

26 p  � W �K	 � `�0LKFG�13? i Y 0.00909032

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00798959

28 ������� 3�4 0.00789046

29 � h���� ��� $ ?-j R�5 ��� 0.0077459

30 � h���� ��� !�"�#�$�%
(
!�6 � ) 0.00751552
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@
A.6: 6 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0864805

2 	�P ��� ( J�� ) 0.0842621

3 + � � � p  � W � 	 � 0.0449913

4 � h���� ��� 
 h H/N���� 0.0355054

5 ��� ( E � � ) � h���� ��� 0.0201245

6 N���I%U N��!I%U 0.0177574

7 
2J��*&�� 
2J���&�� 0.017201

8 � 
 ) ������� 0.0169792

9 ������� 	%P 0.015335

10
Z � � � ��� 0.0152107

11
i Y%j�B%C�D-E "%$ 0.0137857

12 
2J��*&�� {-j�� 0.0132838

13 ������� ��������� N 0.0129452

14 
 �*D-E ������� 0.0122064

15 �!���#=���� )!w S�����W ��� 0.0117215

16 � h���� ��� P�� )���	"S������ Y 0.0116654

17 � h���� ��� �� 0.0113724

18 p  � W �K	 � !�"�#�$�%
0.0106243

19 	�P ��� ( E � � ) 0.0102929

20 + � � � + � � � ��� 0.0101859

21 p  � W �K	 � &�' ��_%`Ld%765 0.00996615

22 
 h H-N���� W ���(��� 0.00967517

23 )!w S��)�\W ��� )!w S�����W ��� 0.00941439

24 * 
�+%Y 
�,�-�.�/ 0.00926863

25 ��� ������� 0.00915246

26 p  � W �K	 � `�0LKFG�13? i Y 0.0085643

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00753505

28 ������� 3�4 0.00748624

29 � h���� ��� $ ?-j R�5 ��� 0.00740116

30 � h���� ��� !�"�#�$�%
0.00712638
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@
A.7: 7 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0821896

2 	�P ��� ( J�� ) 0.0799881

3 + � � � p  � W � 	 � 0.0426851

4 � h���� ��� 
 h H/N���� 0.0338129

5 ��� ( E � � ) � h���� ��� 0.0192715

6 N���I%U N��!I%U 0.016836

7 
2J��*&�� 
2J���&�� 0.0164556

8 � 
 ) ������� 0.0161459

9 ������� 	%P 0.0145635

10
Z � � � ��� 0.014536

11
i Y%j�B%C�D-E "%$ 0.0134943

12 
2J��*&�� {-j�� 0.0127081

13 ������� ��������� N 0.0123077

14 
 �*D-E ������� 0.0115705

15 �!���#=���� )!w S�����W ��� 0.0111635

16 � h���� ��� P�� )���	"S������ Y 0.0111094

17 � h���� ��� �� 0.0108303

18 p  � W �K	 � !�"�#�$�%
0.0100845

19 	�P ��� ( E � � ) 0.00977087

20 + � � � + � � � ��� 0.00966382

21 p  � W �K	 � &�' ��_%`Ld%765 0.00945977

22 
 h H-N���� W ���(��� 0.00922615

23 )!w S��)�\W ��� )!w S�����W ��� 0.00900357

24 * 
�+%Y 
�,�-�.�/ 0.00879374

25 ��� ������� 0.0086974

26 p  � W �K	 � `�0LKFG�13? i Y 0.00812915

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00715395

28 ������� 3�4 0.00711763

29 � h���� ��� $ ?-j R�5 ��� 0.00704837

30 � h���� ��� !�"�#�$�%
0.00678669

66



@
A.8: 8 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0809222

2 	�P ��� ( J�� ) 0.078673

3 + � � � p  � W � 	 � 0.0419621

4 � h���� ��� 
 h H/N���� 0.033352

5 ��� ( E � � ) � h���� ��� 0.0191018

6 N���I%U N��!I%U 0.016541

7 
2J��*&�� 
2J���&�� 0.0162966

8 � 
 ) ������� 0.0159049

9
Z � � � ��� 0.0143816

10 ������� 	%P 0.0143295

11
i Y%j�B%C�D-E "%$ 0.0136314

12 
2J��*&�� {-j�� 0.0125853

13 ������� ��������� N 0.0121222

14 
 �*D-E ������� 0.0113656

15 �!���#=���� )!w S�����W ��� 0.011012

16 � h���� ��� P�� )���	"S������ Y 0.0109579

17 � h���� ��� �� 0.0106827

18 p  � W �K	 � !�"�#�$�%
0.00991784

19 	�P ��� ( E � � ) 0.00961022

20 + � � � + � � � ��� 0.00950015

21 p  � W �K	 � &�' ��_%`Ld%765 0.00930348

22 
 h H-N���� W ���(��� 0.00911101

23 )!w S��)�\W ��� )!w S�����W ��� 0.00891396

24 * 
�+%Y 
�,�-�.�/ 0.00864496

25 ��� ������� 0.00856247

26 p  � W �K	 � `�0LKFG�13? i Y 0.00799484

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00703731

28 ������� 3�4 0.00701035

29 � h���� ��� $ ?-j R�5 ��� 0.00695229

30 � h���� ��� !�"�#�$�%
0.00669418
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@
A.9: 9 f!7�)�+�G-H�7�I�J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0845024

2 	�P ��� ( J�� ) 0.0821777

3 + � � � p  � W � 	 � 0.0438377

4 � h���� ��� 
 h H/N���� 0.0348098

5 ��� ( E � � ) � h���� ��� 0.0199094

6 N���I%U N��!I%U 0.0172833

7 
2J��*&�� 
2J���&�� 0.0169895

8 � 
 ) ������� 0.0166062

9
Z � � � ��� 0.0149974

10 ������� 	%P 0.0149663

11
i Y%j�B%C�D-E "%$ 0.0141352

12 
2J��*&�� {-j�� 0.0131204

13 ������� ��������� N 0.0126573

14 
 �*D-E ������� 0.0118762

15 �!���#=���� )!w S�����W ��� 0.0114931

16 � h���� ��� P�� )���	"S������ Y 0.0114369

17 � h���� ��� �� 0.0111496

18 p  � W �K	 � !�"�#�$�%
0.0103599

19 	�P ��� ( E � � ) 0.0100383

20 + � � � + � � � ��� 0.00992478

21 p  � W �K	 � &�' ��_%`Ld%765 0.00971816

22 
 h H-N���� W ���(��� 0.00950612

23 )!w S��)�\W ��� )!w S�����W ��� 0.00929386

24 * 
�+%Y 
�,�-�.�/ 0.00903128

25 ��� ������� 0.00894152

26 p  � W �K	 � `�0LKFG�13? i Y 0.00835119

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.0073505

28 ������� 3�4 0.00731977

29 � h���� ��� $ ?-j R�5 ��� 0.00725616

30 � h���� ��� !�"�#�$�%
0.00698676
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@
A.10: 10 f!7�)�+�G-H�7�I%J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0874057

2 	�P ��� ( J�� ) 0.0851513

3 + � � � p  � W � 	 � 0.0454629

4 � h���� ��� 
 h H/N���� 0.0358943

5 ��� ( E � � ) � h���� ��� 0.020359

6 N���I%U N��!I%U 0.0179421

7 
2J��*&�� 
2J���&�� 0.0173994

8 � 
 ) ������� 0.017162

9 ������� 	%P 0.0154976

10
Z � � � ��� 0.0153839

11
i Y%j�B%C�D-E "%$ 0.0139837

12 
2J��*&�� {-j�� 0.0134369

13 ������� ��������� N 0.0130843

14 
 �*D-E ������� 0.012333

15 �!���#=���� )!w S�����W ��� 0.01185

16 � h���� ��� P�� )���	"S������ Y 0.0117932

17 � h���� ��� �� 0.011497

18 p  � W �K	 � !�"�#�$�%
0.0107363

19 	�P ��� ( E � � ) 0.0104016

20 + � � � + � � � ��� 0.0102927

21 p  � W �K	 � &�' ��_%`Ld%765 0.0100712

22 
 h H-N���� W ���(��� 0.00978276

23 )!w S��)�\W ��� )!w S�����W ��� 0.00952259

24 * 
�+%Y 
�,�-�.�/ 0.0093658

25 ��� ������� 0.00925025

26 p  � W �K	 � `�0LKFG�13? i Y 0.00865457

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.0076147

28 ������� 3�4 0.00756669

29 � h���� ��� $ ?-j R�5 ��� 0.00748224

30 � h���� ��� !�"�#�$�%
0.00720445
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@
A.11: 11 f!7�)�+�G-H�7�I%J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0873725

2 	�P ��� ( J�� ) 0.0849923

3 + � � � p  � W � 	 � 0.0453452

4 � h���� ��� 
 h H/N���� 0.0359747

5 ��� ( E � � ) � h���� ��� 0.020549

6 N���I%U N��!I%U 0.0178804

7 
2J��*&�� 
2J���&�� 0.0175397

8 � 
 ) ������� 0.0171679

9
Z � � � ��� 0.0154866

10 ������� 	%P 0.0154773

11
i Y%j�B%C�D-E "%$ 0.014516

12 
2J��*&�� {-j�� 0.0135453

13 ������� ��������� N 0.0130859

14 
 �*D-E ������� 0.0122872

15 �!���#=���� )!w S�����W ��� 0.0118776

16 � h���� ��� P�� )���	"S������ Y 0.0118196

17 � h���� ��� �� 0.0115227

18 p  � W �K	 � !�"�#�$�%
0.010715

19 	�P ��� ( E � � ) 0.0103821

20 + � � � + � � � ��� 0.0102661

21 p  � W �K	 � &�' ��_%`Ld%765 0.0100512

22 
 h H-N���� W ���(��� 0.00982122

23 )!w S��)�\W ��� )!w S�����W ��� 0.00959538

24 * 
�+%Y 
�,�-�.�/ 0.00934181

25 ��� ������� 0.00924546

26 p  � W �K	 � `�0LKFG�13? i Y 0.00863739

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00760198

28 ������� 3�4 0.00756766

29 � h���� ��� $ ?-j R�5 ��� 0.00749899

30 � h���� ��� !�"�#�$�%
0.00722058
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@
A.12: 12 f!7�)�+�G-H�7�I%J�86K%LM� CO2 Y kVa 7F1-3

��O )�+%A )�+-, 1-3%s
1 ��� ( J�� ) � h���� ��� 0.0854517

2 	�P ��� ( J�� ) 0.0831792

3 + � � � p  � W � 	 � 0.0443923

4 � h���� ��� 
 h H/N���� 0.0351427

5 ��� ( E � � ) � h���� ��� 0.0200107

6 N���I%U N��!I%U 0.0175113

7 
2J��*&�� 
2J���&�� 0.0170897

8 � 
 ) ������� 0.016785

9 ������� 	%P 0.0151434

10
Z � � � ��� 0.0150988

11
i Y%j�B%C�D-E "%$ 0.0139601

12 
2J��*&�� {-j�� 0.0131978

13 ������� ��������� N 0.0127954

14 
 �*D-E ������� 0.0120351

15 �!���#=���� )!w S�����W ��� 0.0116024

16 � h���� ��� P�� )���	"S������ Y 0.0115463

17 � h���� ��� �� 0.0112562

18 p  � W �K	 � !�"�#�$�%
0.0104869

19 	�P ��� ( E � � ) 0.0101607

20 + � � � + � � � ��� 0.0100503

21 p  � W �K	 � &�' ��_%`Ld%765 0.00983732

22 
 h H-N���� W ���(��� 0.00958686

23 )!w S��)�\W ��� )!w S�����W ��� 0.009351

24 * 
�+%Y 
�,�-�.�/ 0.00914537

25 ��� ������� 0.00904277

26 p  � W �K	 � `�0LKFG�13? i Y 0.00845358

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00743917

28 ������� 3�4 0.00739962

29 � h���� ��� $ ?-j R�5 ��� 0.00732556

30 � h���� ��� !�"�#�$�%
0.00705359

71



@
A.13: �*� 2

g 7 g�h srt!7�)�+�G-H�76I%J�86K%LM� CO2 Y kVa 7F1-3
��O )�+%A )�+-, 1-3%s

1 ��� ( J�� ) � h���� ��� 0.0860997

2 	�P ��� ( J�� ) 0.0838198

3 + � � � p  � W � 	 � 0.0447364

4 � h���� ��� 
 h H/N���� 0.0354017

5 ��� ( E � � ) � h���� ��� 0.0201474

6 N���I%U N��!I%U 0.0176482

7 
2J��*&�� 
2J���&�� 0.0172081

8 � 
 ) ������� 0.0169114

9 ������� 	%P 0.0152594

10
Z � � � ��� 0.0152048

11
i Y%j�B%C�D-E "%$ 0.014026

12 
2J��*&�� {-j�� 0.0132892

13 ������� ��������� N 0.0128918

14 
 �*D-E ������� 0.0121294

15 �!���#=���� )!w S�����W ��� 0.0116879

16 � h���� ��� P�� )���	"S������ Y 0.0116316

17 � h���� ��� �� 0.0113392

18 p  � W �K	 � !�"�#�$�%
0.0105678

19 	�P ��� ( E � � ) 0.0102389

20 + � � � + � � � ��� 0.0101281

21 p  � W �K	 � &�' ��_%`Ld%765 0.00991314

22 
 h H-N���� W ���(��� 0.00965612

23 )!w S��)�\W ��� )!w S�����W ��� 0.00941592

24 * 
�+%Y 
�,�-�.�/ 0.009216

25 ��� ������� 0.00911123

26 p  � W �K	 � `�0LKFG�13? i Y 0.00851874

27 
 �%j�R/S�
2J���T%U 2%$ \ 0.00749622

28 ������� 3�4 0.00745545

29 � h���� ��� $ ?-j R�5 ��� 0.00737957

30 � h���� ��� !�"�#�$�%
0.00710559
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